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First Lecture

Financial Statement Analysis: An Introduction

"The roles of financial reporting and financial statement
analysis.

" The roles of the statement of financial position, statement of
comprehensive income, statement of changes in equity, and
statement of cash flows in evaluating a company’s
performance and financial position.



The roles of financial reporting and financial
statement analysis

e Financial reporting refers to the way companies show their financial performance to investors,
creditors, and other interested parties by preparing and presenting financial statements.
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e According to the IASB Conceptual Framework for Financial Reporting 2010:

“The objective of general purpose financial reporting is to provide financial information about the
reporting entity that is useful to existing and potential investors, lenders, and other creditors in making
decisions about providing resources to the entity. Those decisions involve buying, selling or holding
equity and debt instruments, and providing or settling loans and other forms of credit.”
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The role of financial statement analysis is to use the information in a company’s financial
statements, along with other relevant information, to make economic decisions.
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Examples of such decisions include whether to invest in the company’s securities or recommend
them to investors and whether to extend trade or bank credit to the company.
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Analysts use financial statement data to evaluate a company’s past performance and current

financial position in order to form opinions about the company’s ability to earn profits and generate
cash flow in the future.
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The roles of the statement of financial position, statement of comprehensive
income, statement of changes in equity, and statement of cash flows in evaluating a
company’s performance and financial position

The balance sheet (also known as the statement of financial position or statement of financial condition)
reports the firm’s financial position at a point in time. The balance sheet consists of three elements:

e Assets are the resources controlled by the firm.
e Liabilities are amounts owed to lenders and other creditors.

 Owners’ equity is the residual interest in the net assets of an entity that remains after deducting its
liabilities.
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* Transactions are measured so that the fundamental accounting equation holds:

assets = liabilities + owners’ equity



 The statement of comprehensive income reports all changes in equity except for shareholder
transactions (e.g., issuing stock, repurchasing stock, and paying dividends).
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e The income statement (also known as the statement of operations or the profit and loss

statement) reports on the financial performance of the firm over a period of time. The elements
of the income statement include revenues, expenses, and gains and losses.
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* Revenues are inflows from delivering or producing goods, rendering services, or other activities
that constitute the entity’s ongoing major or central operations.

e Expenses are outflows from delivering or producing goods or services that constitute the entity’s
ongoing major or central operations.

e Other income includes gains that may or may not arise in the ordinary course of business.
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* The income statement can be combined with “other comprehensive income” and presented as a
single statement of comprehensive income. Alternatively, the income statement and the
statement of comprehensive income can be presented separately.
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e The statement of changes in equity reports the amounts and sources of changes in equity

investors’ investment in the firm over a period of time.
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* The statement of cash flows reports the company’s cash receipts and payments. These cash flows are
classified as follows:

O Operating cash flows include the cash effects of transactions that involve the normal business of the
firm.

O Investing cash flows are those resulting from the acquisition or sale of property, plant, and equipment;
of a subsidiary or segment; of securities; and of investments in other firms.

O Financing cash flows are those resulting from issuance or retirement of the firm’s debt and equity
securities and include dividends paid to stockholders.
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Key Concepts

* The role of financial reporting is to provide a variety of users with
useful information about a company’s performance and financial
position.

* The role of financial statement analysis is to use the data from
financial statements to support economic decisions.
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Key Concepts

* The statement of financial position (balance sheet) shows assets, liabilities, and owners’ equity at
a point in time.

* The statement of comprehensive income shows the results of a firm’s business activities over the
period. Revenues, the cost of generating those revenues, and the resulting profit or loss are
presented on the income statement.

e The statement of changes in equity reports the amount and sources of changes in the equity
owners’ investment in the firm.

e The statement of cash flows shows the sources and uses of cash over the period.
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Third Lecture

Understanding Income Statements

e Describe the components of the income statement and alternative
presentation formats of that statement.

e Calculate revenue given information that might influence the choice
of revenue recognition method.



* Income statement components and format

The income statement reports the revenues and expenses of the firm over a period of time. The income statement is
sometimes referred to as the “statement of operations,” the “statement of earnings,” or the “profit and loss
statement.” The income statement equation is:

revenues — expenses = net income
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Under IFRS, the income statement can be combined with “other comprehensive income” and presented as a single
statement of comprehensive income. Alternatively, the income statement and the statement of comprehensive
income can be presented separately. Presentation is similar under U.S. GAAP.

2a) 5 S Lagain e 5 " AY) Jalall Jaall" e J2l) (L zed (S «(GAAP) S oY) dnlaall jlina IS 5 ALl g il A gall ulaall (8 5
Seaiia Sy Jalall JLal hs Jaall gl e @l e Lia e oSay s L Jal Jim

Investors examine a firm’s income statement for valuation purposes while lenders examine the income statement for
information about the firm’s ability to make the promised interest and principal payments on its debt.
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Describe the components of the income statement and
alternative presentation formats of that statement

Revenues are the amounts reported from the sale of goods and services in the normal course of business.
Revenue less adjustments for estimated returns and allowances is known as net revenue.
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Expenses are the amounts incurred to generate revenue and include cost of goods sold, operating expenses,
interest, and taxes. Expenses are grouped together by their nature or function. Presenting all depreciation
expense from manufacturing and administration together in one line of the income statement is an example
of grouping by nature of the expense. Combining all costs associated with manufacturing (e.g., raw
materials, depreciation, labour, etc.) as cost of goods sold is an example of grouping by function. Grouping
expenses by function is sometimes referred to as the cost of sales method.
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The income statement also includes gains and losses, which result in an increase (gains) or decrease
(losses) of economic benefits. Gains and losses may or may not result from ordinary business
activities. For example, a firm might sell surplus equipment used in its manufacturing operation that
is no longer needed. The difference between the sales price and book value is reported as a gain or
loss on the income statement.

Summarizing, net income is equal to income (revenues + gains) minus expenses (including losses).
Thus, the components can be rearranged as follows:
net income = revenues — ordinary expenses + other income — other expense + gains — losses
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* Presentation Formats

A firm can present its income statement using a single-step or multi-
step format. In a single-step statement, all revenues are grouped
together and all expenses are grouped together. A multi-step format
includes gross profit, revenues minus cost of goods sold.

Figure 1 is an example of a multi-step income statement format for the
BHG Company.
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BHG Company Income Statement

For the year ended Decerpber 33

20X7 .
< gt Cost of goods sold (362,520)
foliall L CHPIS Gross profit 216,792
M e Selling, general, and administrative expense (109,560)
it Cay Depreciation expense (69,008)
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Operating profit 38,224
Lzl s Al
- Cj\ Interest expense (2,462)
L
Income before tax 35,762
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. . Provision for income taxes (14,305)
Jaall (il jaa 4 g5
s Mool g2 Income from continuing operations 21,457
) ; ) Earnings (losses) from discontinued operations, net of tax 1,106
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Gross profit is the amount that remains after the direct costs of producing a product or service are
subtracted from revenue. Subtracting operating expenses, such as selling, general, and
administrative expenses, from gross profit results in another subtotal known as operating profit or
operating income. For nonfinancial firms, operating profit is profit before financing costs, income
taxes, and non-operating items are considered. Subtracting interest expense and income taxes from
operating profit results in the firm’s net income, sometimes referred to as “earnings” or the
“bottom line.”
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Calculate revenue given information that might influence the
choice of revenue recognition method

Under the accrual method of accounting, revenue is recognized when earned and expenses are
recognized when incurred. The important point to remember is that accrual accounting does not
necessarily coincide with the receipt or payment of cash. Consequently, firms can manipulate net
income by recognizing revenue earlier or later or by delaying or accelerating the recognition of
expenses.
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According to the International Accounting Standards Board (IASB), revenue is recognized
from the sale of goods when:
* The risk and reward of ownership is transferred.
There is no continuing control or management over the goods sold.
Revenue can be reliably measured.
There is a probable flow of economic benefits.
The cost can be reliably measured.
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For services rendered, revenue is recognized when:

T
T
T
T

ne amount of revenue can be reliably measured.
here is a probable flow of economic benefits.
ne stage of completion can be measured.

ne cost incurred and cost of completion can be reliably measured.
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According to the Financial Accounting Standards Board (FASB), revenue is recognized in the
income statement when (a) realized or realizable and (b) earned. The Securities and
Exchange Commission (SEC) provides additional guidance by listing four criteria to
determine whether revenue should be recognized:
e There is evidence of an arrangement between the buyer and seller.
 The product has been delivered or the service has been rendered.
e The price is determined or determinable.
e The seller is reasonably sure of collecting money.
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e Example:

Which of the following is least likely a condition necessary for
revenue recognition?

A. Cash has been collected.
B. The goods have been delivered.
C. The price has been determined.



If a firm receives cash before revenue recognition is complete, the firm reports it as unearned
revenue. Unearned revenue is reported on the balance sheet as a liability. The liability is reduced in
the future as the revenue is earned. For example, a magazine publisher typically receives
subscription payments in advance of delivery. When payments are received, both assets (cash) and
liabilities (unearned revenue) increase. As the magazines are delivered, the publisher recognizes
revenue on the income statement and the liability is reduced.
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» Specific Revenue Recognition Applications

Revenue is usually recognized at delivery using the revenue recognition criteria previously discussed. However,
in some cases, revenue may be recognized before delivery occurs or even after delivery takes place.
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* Long-Term Contracts

The percentage-of-completion method and the completed-contract method are used for contracts that extend
beyond one accounting period, often contracts related to construction projects. In certain cases, involving
service contracts or licensing agreements, the firm may simply recognize revenue equally over the term of the

contract or agreement.
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When the outcome of a long-term contract can be reliably estimated, the percentage-of-completion method is
used under both IFRS and U.S. GAAP. Accordingly, revenue, expense, and therefore profit, are recognized as the
work is performed. The percentage of completion is measured by the total cost incurred to date divided by the
total expected cost of the project.
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Under International Financial Reporting Standards (IFRS), if the firm cannot reliably measure the outcome of
the project, revenue is recognized to the extent of contract costs, costs are expensed when incurred, and profit
is recognized only at completion. Under U.S. GAAP, the completed-contract method is used when the outcome
of the project cannot be reliably estimated. Accordingly, revenue, expense, and profit are recognized only
when the contract is complete. If a loss is expected, the loss must be recognized immediately under IFRS and
U.S. GAAP.
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The effect of using these different revenue recognition methods for long-term contracts on the income
statement is illustrated in the following examples.
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Example: Revenue recognition for long-term contracts

Assume that AAA Construction Corp. has a contract to build a ship for $1,000 and a reliable estimate of the contract’s total
cost is $800. Project costs incurred by AAA are as follows:

AAA Project Costs

Year 20X5 20X6 20X 7 Toral

Cost incurred $400 $S300 $100 S800

Determine AAA’s net income from this project for each year using the percentage-of-completion and completed
contract methods in accordance with U.S. GAAP.
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Since one-half of the total contract cost [$400 / $800] was incurred during 20X5, the project was 50% complete at year-end. Under the percentage-of-completion
method, 20X5 revenue is $500 [$1,000 x 50%]. Expenses (cost incurred) were $400; thus, net income for 20X5 was $100 [S500 revenue — $400 expense].

At the end of 20X6, the project is 87.5% complete [($400 + $300) / S800]. Revenue to date should total $875 [$1,000 x 87.5%]. Since AAA already recognized $500 of
revenue in 20X5, 20X6 revenue is $375 [S875 — S$500]. 20X6 expenses were $300 so 20X6 net income was S$75 [$375 revenue — S$300 expense].

At the end of 20X7, the project is 100% complete [(S400 + $300 +5100) / $800]. Revenue to date should total $1,000 [$1,000 x 100%)]. Since AAA already recognized
S875 of revenue in 20X5 and 20X6, 20X7 revenue is $125 [$1,000 — $875]. 20X7 expenses were $100 so 20X7 net income was $25 [$125 revenue — $100 expense].
The table below summarizes the AAA’s revenue, expense, and net income over the term of project under the percentage-of-completion method.

Under the completed contract method, revenue, expenses, and profit are not recognized until the contract is complete. Therefore, at the end of 20X7, AAA reports
revenue of $1,000, expense of S800, and net income of S200.
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Revenue
Expcnsc

Net income

20X5 20X6 20X7 Jotal

§400 §300  $300 §1,000

400 300 100 800
§0 §0 §200 §200




As compared to the completed contract method, the percentage-of-completion
method is more aggressive since revenue is reported sooner. Also, the percentage-of-
completion method is more subjective because it involves cost estimates. However,
the percentage-of-completion method provides smoother earnings and results in

better matching of revenues and expenses over time. Cash flows are the same under
both methods.
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e Example:

AAA has a contract to build a building for $100,000 with an estimated time to completion of three
years. A reliable cost estimate for the project is $60,000. In the first year of the project, AAA incurred
costs totalling $24,000. How much profit should AAA report at the end of the first year under the
percentage-of-completion method and the completed-contract method?

Percentage-of-completion Completed-contract
A. $16,000 $0
B. $16,000 $40,000

C. $40,000 $0



Instalment Sales:

An instalment sale occurs when a firm finances a sale and payments are expected
to be received over an extended period. Under U.S. GAAP, if collectability is
certain, revenue Is recognized at the time of sale using the normal revenue
recognition criteria. If collectability cannot be reasonably estimated, the instalment

method is used. If collectability is highly uncertain, the cost recovery method is
used.
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Under the instalment method, profit is recognized as cash iIs collected. Profit is equal
to the cash collected during the period multiplied by the total expected profit as a
percentage of sales. Under the cost recovery method, profit is recognized only when
cash collected exceeds costs incurred. Both the instalment and cost recovery
methods are typically used only for sales of real estate.
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The effects of using the instalment and the cost recovery methods are illustrated in
the following example.
QA.\ LS Al ala i g Jasusilly @.\S\ Gk e\diﬁ.u\ J\J a5 L;\:J\ JUL



Year 20X5 20X6 20X7 Toral
Collecrions $400 5400 $200 $1,000
Answer:

20%] each year. In 20X7,
Under the cost recovery method, the collections received during 20X5 and 20X6 are applied to the recovery of costs. In 20X7, BBB will report $200 of profit.

Total expected profit as a percentage of sales is 20%
BB willreport profit of $4

6(

Example: Revenue recognition under
the instalment method

Assume that BBB Property Corp. sells
a piece of land for $1,000. The original
cost of the land was $800.

Collections received by BBB for the
sale are as follows:
BBB Instalment Collections:
Determine BBB’s profit under the
instalment and cost recovery methods.

$1,000 — $800) / $1,000]. Under the instalment method, BBB will report profit in 20X5 and 20X6 of $80 [$400 x

[$200 x 20%].
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Under IFRS, the discounted present value of the instalment payments is recognized
at the time of sale. The difference between the instalment payments and the
discounted present value is recognized as interest over time. If the outcome of the
project cannot be reliably estimated, revenue recognition under IFRS is similar to

the cost recovery method.
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Fourth Lecture

Understanding Income Statements 2

e Describe general principles of expense recognition and specific
expense recognition applications.

e Distinguish between the operating and non-operating components of
the income statement.
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Expenses are subtracted from revenue to calculate net income. According to the
|ASB, expenses are decreases in economic benefits during the accounting period in
the form of outflows or depletions of assets or incurrence of liabilities (that result in
decreases in equity other than those relating to distributions to equity participants).
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If the financial statements were prepared on a cash basis, neither revenue
recognition nor expense recognition would be an issue. The firm would simply
recognize cash received as revenue and cash payments as expense.
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Under the accrual method of accounting, expense recognition is based on the matching
principle whereby expenses to generate revenue are recognized in the same period as the
revenue. Inventory provides a good example. Assume inventory is purchased during the
fourth quarter of one year and sold during the first quarter of the following year. Using the
matching principle, both the revenue and the expense (cost of goods sold) are recognized in
the first quarter, when the inventory is sold, not the period in which the inventory was
purchased.
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Not all expenses can be directly tied to revenue generation. These costs are known as
period costs. Period costs, such as administrative costs, are expensed in the period incurred.
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Example:

Which principle requires that cost of goods sold be recognized in the
same period in which the sale of the related inventory is recorded?

A. Going concern.
B. Certainty.
C. Matching.



 Inventory Expense Recognition

If a firm can identify exactly which items were sold and which items remain in inventory, it
can use the specific identification method. For example, an auto dealer records each
vehicle sold or in inventory by its Identification number.
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Under the first-in, first-out (FIFO) method, the first item purchased is assumed to be the
first item sold. The cost of inventory acquired first (beginning inventory and early
purchases) is used to calculate the cost of goods sold for the period. The cost of the most
recent purchases is used to calculate ending inventory. FIFO is appropriate for inventory
that has a limited shelf life. For example, a food products company will sell its oldest
Inventory first to keep the inventory on hand fresh.
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Under the last-in, first-out (LIFO) method, the last item purchased is assumed to be the
first item sold. The cost of inventory most recently purchased is assigned to the cost of
goods sold for the period. The costs of beginning inventory and earlier purchases are
assigned to ending inventory. LIFO is appropriate for inventory that does not deteriorate
with age. For example, a coal distributor will sell coal off the top of the pile.
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The weighted average cost method makes no assumption about the physical flow of the
Inventory. It is popular because of its ease of use. The cost per unit is calculated by dividing
cost of available goods by total units available, and this average cost is used to determine
both cost of goods sold and ending inventory. Average cost results in cost of goods sold and
ending inventory values between those of LIFO and FIFO.
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FIFO and average cost are permitted under both U.S. GAAP and IFRS.
LIFO is allowed under U.S. GAAP but is prohibited under IFRS.
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This figure summarizes the effects of the inventory methods.
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Figure: Inventory Method Comparison:



Cost of Goods

Sold Consists Ending
It Assumption 4. Inventory
Consists of...
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e Example:

When accounting for inventory, are the first-in, first-out (FIFO) and last-in, first-out
(LIFO) cost flow assumptions permitted under U.S. GAAP?

FIFO LIFO
A. Yes Yes
B. Yes No

C. No Yes



Example: Inventory costing
Use the inventory data in the table
below to calculate the cost of goods
sold and ending inventory under each
of the three methods.

e Answer:

FIFO cost of goods sold: Value
the seven units sold using the unit
cost of first units purchased. Start
with the beginning inventory and
the earliest units purchased and
work down, as illustrated in the
following table.
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L/FO cost of goods sold: Value the seven units
sold at unit cost of last units purchased. Start
with the most recently purchased units and work
up, as illustrated in the following table.

Average cost of goodas sold
Value the seven units sold at the average unit
cost of goods available.

The following table summarizes the calculations
of COGS and ending inventory for each method.
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« Example:
CC Corp. reported the following inventory transactions (in chronological order) for the year:

Purchase Sales

40 units at $30 13 units at $35
20 units at S40 35 units at $45
90 units at S50 60 units at S60

Assuming inventory at the beginning of the year was zero, calculate the year-end inventory using FIFO and LIFO.
FIFO LIFO

A.S$5,220  $1,040
B.$2,100 $1,280
C.$2,100 S1,040



* Depreciation Expense Recognition

The cost of long-lived assets must also be matched with revenues. Long-lived assets
are expected to provide economic benefits beyond one accounting period. The
allocation of cost over an asset’s life i1s known as depreciation (tangible assets),
depletion (natural resources), or amortization (intangible assets). Most firms use the
straight-line depreciation method for financial reporting purposes. The straight-
line method recognizes an equal amount of depreciation expense each period.
However, most assets generate more benefits in the early years of their economic
life and fewer benefits in the later years. In this case, an accelerated depreciation
method is more appropriate for matching the expenses to revenues.
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In the early years of an asset’s life, the straight-line method will result in
lower depreciation expense as compared to an accelerated method. Lower
expense results in higher net income. In the later years of the asset’s life, the
effect is reversed, and straight-line depreciation results in higher expense and
lower net income compared to accelerated methods.
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Straight-line depreciation (SL) allocates an equal amount of depreciation each
year over the asset’s useful life as follows:
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S depreciation expense = i-idu vl

cost-residual valne _ ($12,000-82,000)
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Accelerated depreciation speeds up the recognition of depreciation expense
In a systematic way to recognize more depreciation expense in the early years
of the asset’s life and less depreciation expense in the later years of its life.
Total depreciation expense over the life of the asset will be the same as it
would be if straight-line depreciation were used.
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The declining balance method (DB) applies a constant rate of depreciation
to an asset’s (declining) book value each year.
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The most common declining balance method is double-declining balance (DDB), which applies two
times the straight-line rate to the declining balance. If an asset’s life is ten years, the straight-line rate
Is 1/10 or 10%, and the DDB rate would be 2/10 or 20%.
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DDB depreciation

= (i) (cost — accumulated depreciation)

DB does not explicitly use the asset’s residual value in the calculations, but depreciation ends once
the estimated residual value has been reached. If the asset Is expected to have no residual value, the
DB method will never fully depreciate it, so the DB method is typically changed to straight-line at
some point in the asset’s life.
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« Example: Calculating double-declining balance depreciation expense

Littlefield Company recently purchased a machine at a cost of $12,000. The machine is expected to have a
residual value of $2,000 at the end of its useful life in five years. Calculate depreciation expense for all five
years using the double-declining balance method.
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e Answer:
The depreciation expense using the double declining balance method is:
e Year 1: (2/5)(%$12,000) = $4,800
* Year 2: (2/5)($12,000 — $4,800) = $2,880
e Year 3: (2/5)(%$12,000 — $7,680) = $1,728
In years 1 through 3, the company has recognized cumulative depreciation expense of $9,408. Since the

total depreciation expense is limited to $10,000 ($12,000 — $2,000 salvage value), the depreciation in year
4 is limited to $592, rather than the (2 / 5)($12,000 — $9,408) = $1,036.80 using the DDB formula.

» Year 5: Depreciation expense is $0, since the asset is fully depreciated.



Note that the rate of depreciation is doubled (2 / 5) from straight-line, and the only thing that changes
from year to year is the base amount (book value) used to calculate annual depreciation.
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e Example:

At the beginning of the year, Triple W Corporation purchased a new piece of
equipment to be used In its manufacturing operation. The cost of the
equipment was $25,000. The equipment is expected to be used for 4 years and
then sold for $4,000. Depreciation expense to be reported for the second year
using the double-declining-balance method is c/osestto:

e A. 35,250
* B. $6,250
 C. $7,000




o Example:

Which of the following best describes the impact of depreciating equipment with a
useful life of 6 years using the declining balance method as compared to the
straight-line method?

» A. Total depreciation expense will be higher over the life of the equipment.
* B. Depreciation expense will be higher in the first year.
« C. Scrapping the equipment after five years will result in a larger loss.
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Operating and nonoperating transactions are usually reported separately in the income
statement. For a nonfinancial firm, nonoperating transactions may result from investment
Income and financing expenses. For example, a nonfinancial firm may receive dividends
and interest from investments in other firms. The investment income and any gains and
losses from the sale of these securities are not a part of the firm’s normal business
operations. Interest expense Is based on the firm’s capital structure, which is also
Independent of the firm’s operations. Conversely, for a financial firm, investment income
and financing expenses are usually considered operating activities.
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e Example:

Which of the following Is /east /ikely considered a nonoperating
transaction from the perspective of a manufacturing firm?

 A. Dividends received from available-for-sale securities.
 B. Interest expense on subordinated debentures.
 C. Accruing bad debt expense for goods sold on credit.
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Fifth Lecture

Understanding Income Statements 3

e Distinguish between dilutive and antidilutive securities and describe
the implications of each for the earnings per share calculation.

e Convert Income statements to common-size iIncome statements.

e Evaluate a company’s financial performance using common-size
Income statements and financial ratios based on the income statement.

e Describe other comprehensive income and identify major types of
items included In it.



DlSt' utint 1 C iUl 3 Se( IS the
of each for the earnings nal

)

Earnings per share (EPS) is one of the most commonly used corporate profitability performance measures
for publicly-traded firms (non-public companies are not required to report EPS data). EPS is reported only for
shares of common stock (also known as ordinary stock).
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A company may have either a simple or complex capital structure:

A simple capital structure is one that contains no potentially dilutive securities. A simple capital structure
contains only common stock, nonconvertible debt, and nonconvertible preferred stock.

A complex capital structure contains potentially dilutive securities such as options, warrants, or convertible
securities.
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All firms with complex capital structures must report both basic and diluted EPS. Firms with simple capital
structures report only basic EPS.
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« BASIC EPS

The basic EPS calculation does not consider the effects of any dilutive securities in the computation of EPS.
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The current year’s preferred dividends are subtracted from net income because EPS refers to the per-share earnings available
to common shareholders. Net income minus preferred dividends is the income available to common stockholders. Common
stock dividends are not subtracted from net income because they are a part of the net income available to common
shareholders.
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The weighted average number of common shares is the number of shares outstanding during the year, weighted by the
portion of the year they were outstanding.
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___ net income—pref. div. _  $10,000-$1,000
Basic EPS wt. avg. shares of common 11,000 = $0.82
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 Example: Weighted average shares
and basic EPS

Johnson Company has net income of
510,000 and paid $1,000 cash dividends
to its preferred shareholders and $1,750
cash dividends to its common
shareholders. At the beginning of the
year, there were 10,000 shares of
common stock outstanding. 2,000 new
shares were issued on July 1. Assuming a
simple capital structure, what s
Johnson’s basic EPS?

Answer:

Calculate Johnson’s weighted average
number of shares.

Shares outstanding all year = 10,000(12) =
120,000

shares outstanding 1/2 year = 2,000(6) =
12,000

Weighted average shares = 132,000 / 12 =
11,000 shares




o Effect of Stock Dividends and Stock Splits

A stock dividend is the distribution of additional shares to each shareholder in an amount
proportional to their current number of shares. If a 10% stock dividend is paid, the holder of
100 shares of stock would receive 10 additional shares.
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o A stock split refers to the division of each “old” share into a specific number of “new” (post-

split) shares. The holder of 100 shares will have 200 shares after a 2-for-1 split or 150 shares
after a 3-for- 2 split

The important thing to remember is that each shareholder’s proportional ownership in the
company is unchanged by either of these events. Each shareholder has more shares but the same
percentage of the total shares outstanding.
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January 1 Shares issued and surstanding at the beginning of 10,000
the year

April 1 Sharcs izsucd 4,000
July 1 10% stock dividend

Seprember 1 Sharcs repurchased for the treasury 3,000
January | Initial shares adjusred for the 10% dividend 11,000
April 1 Shares issucd adjusted for the 10% dividend 4,400
September 1 Shares of treasury stock repurchased -3,000

(no adjustment)

Step 2: Compute the weighted average number of post-stock dividend shares:

Initial shares 11,000 = 12 months outstanding 132,000
Issued shares 4,400 % 9 months outstanding 39,600
Retired treasury shares  —3,000 = 4 months rerired =12,000
Total share-month 159,600
Average shares 159,600/ 12 13.300

basic EPg — ™ lcome—pre div. _ 3100000960000 _ g g

wt. avg. shares of common 13,300
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During the past year, R & J, Inc. had net income of $100,000, paid dividends
of $50,000 to its preferred stockholders, and paid $30,000 in dividends to its
common shareholders. R & J’s common stock account showed the following:

Compute the weighted average number of common shares outstanding during
the year, and compute EPS.

Answer:

Step 1: Adjust the number of pre-stock-dividend shares to post-stock-
dividend units (to reflect the 10% stock dividend) by multiplying all share
numbers prior to the stock dividend by 1.1. Shares issued or retired after the
stock dividend are not affected.

Step 2. Compute the weighted average number of post-stock dividend shares.

Step 3: Compute basic EPS.




Things to know about the weighted average shares outstanding calculation:
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The weighting system is days outstanding divided by the number of days in a year, but the monthly
approximation method will probably be used.

Shares issued enter into the computation from the date of issuance.
Reacquired shares are excluded from the computation from the date of reacquisition.
Shares sold or issued in a purchase of assets are included from the date of issuance.

A stock split or stock dividend is applied to all shares outstanding prior to the split or dividend and

to the beginning-of-period weighted average shares. A stock split or stock dividend adjustment is
not applied to any shares issued or repurchased after the split or dividend date.
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 DILUTED EPS
Before calculating diluted EPS, it is necessary to understand the following terms:

 Dilutive securities are stock options, warrants, convertible debt, or convertible
preferred stock that would decrease EPS If exercised or converted to common
stock.
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« Antidilutive securities are stock options, warrants, convertible debt, or convertible
preferred stock that would increase EPS if exercised or converted to common
stock.
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The numerator of the basic EPS equation contains income available to common shareholders (net income less
preferred dividends). In the case of diluted EPS, if there are dilutive securities, then the numerator must be
adjusted as follows:
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If convertible preferred stock is dilutive (meaning EPS will fall if it is converted to common stock), the

convertible preferred dividends must be added to earnings available to common shareholders.
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If convertible bonds are dilutive, then the bonds’ after-tax interest expense is not considered an interest expense
for diluted EPS. Hence, interest expense multiplied by (1 — the tax rate) must be added back to the numerator.
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Note: Interest pald on bonds Is typically tax deductible for the firm. If convertible bonds are converted to stock,
the firm saves the interest cost but loses the tax deauction. Thus, only the after-tax interest savings are added
back to income avairlable to common shareholders.
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The basic EPS denominator is the weighted average number of shares. When the
firm has dilutive securities outstanding, the denominator iIs the basic EPS
denominator adjusted for the equivalent number of common shares that would be
created by the conversion of all dilutive securities outstanding (convertible bonds,
convertible preferred shares, warrants, and options), with each one considered

separately to determine if it is dilutive.
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If a dilutive security was issued during the year, the increase in the weighted average
number of shares for diluted EPS is based on only the portion of the year the
dilutive security was outstanding.
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Dilutive stock options or warrants increase the number of common shares outstanding in the denominator
for diluted EPS. There is no adjustment to the numerator.
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Stock options and warrants are dilutive only when their exercise prices are less than the average market
price of the stock over the year. If the options or warrants are dilutive, use the treasury stock method to
calculate the number of shares used in the denominator.
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The treasury stock method assumes that the funds received by the company from the exercise of the
options would be used to hypothetically purchase shares of the company’s common stock in the market at
the average market price.
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The net increase in the number of shares outstanding (the adjustment to the denominator) is the number of
shares created by exercising the options less the number of shares hypothetically repurchased with the
proceeds of exercise.
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o Example: Treasury stock method

Baxter Company has 5,000 shares outstanding all year. Baxter had 2,000 outstanding
warrants all year, convertible into one share each at $20 per share. The year-end price of
Baxter stock was $40, and the average stock price was $30. What effect will these warrants
have on the weighted average number of shares?

e Answer:

If the warrants are exercised, the company will receive 2,000 x $20 = $40,000 and issue
2,000 new shares. The treasury stock method assumes the company uses these funds to
repurchase shares at the average market price of $30. The company would repurchase
$40,000 / $30 = 1,333 shares. Net shares issued would be 2,000 — 1,333 = 667 shares.
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e The diluted EPS equation is:

dhted B — adjusted income available for common shares
~ welghted-averags common and potential common shares outstanding

where aadjusted income available for common shares is:.
* net income — preferred dividends
« dividends on convertible preferred stock
e after-tax interest on convertible debt
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e Therefore, diluted EPS is:
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stock options

Remember, each potentially dilutive security must be examined separately to determine if it
Is actually dilutive (i.e., would reduce EPS if converted to common stock). The effect of
conversion to common is included in the calculation of diluted EPS for a given security
only if it is, in fact, dilutive.
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Example 1: EPS with convertible debt

During 20X6, ZZZ Corp. reported net income of $115.600 and had 200,000 shares of common stock outstanding for the entire year. ZZZ also had 1.000 shares of 10%,
$100 par, preferred stock outstanding dunng 20X6. During 20X35, ZZZ 1ssued 600, $1,000 par, 7 bonds for $600,000 (issued at par). Each of these bonds is convertible
to 100 shares of common stock. The tax rate 1s 40%. Compute the 20X6 basic and diluted EPS.

Answer:

2115600510000
Z00000

Step 1: Compute 20X6 basic EPS: basic EPS =
Step 2: Calculate diluted EPS:
» Compute the increase in commeon stock outstanding if the convertible debt 1s converted to common stock at the beginning of 20X6:

shares issuable for debt conversion = (600N 100) = 60,000 shares

=$0.53

» Ifthe convertible debt 1s considered converted to common stock at the beginning of 20X6. then there would be no nterest expense related to the convertible debt.
Therefore, it 1s necessary to increase Z77’s after-tax net income for the after-tax effect of the decrease in interest expense:
mcrease m mcome = [(GOONS1.000)(0.07)] (1 —0.40) =$25.200

*  Compute diluted EPS as if the convertible debt were common stock:
diluted EPS net. inc. —pref.div + convert.int. (1 —1t) $115600 — $10000 + $25200
ilute = i

= = $0.50
wt.avg.shares + convertible debt shares 200000 + 60000 $

» Check to make sure that dilured EPS is less than basic EPS [$0.50 < $0.53]. If diluted EPS is more than the basic EPS, the convertible bonds are antidilutive and
should not be treated as common stock in computing diluted EPS.

convertible debt interest (1—t)
convertible debt shares

If this per share amount is greater than basic EPS, the convertible debt is antidilutive, and the effects of conversion should not be included when calculating diluted EPS.

If this per share amount is less than basic EPS, the convertible debt is dilutive, and the effects of conversion should be included mn the calculation of diluted EPS.

: $§25200 = $0.42
60000

The company s basic EPS 1s $0.53, so the convertible debt is dilutive, and the effects of conversion should be mcluded m the calculation of diluted EPS.

A quick way to determine whether the convertible debt is dilutive 1s to calculate its per share impact by:

For
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Example 2: EPS with convertible preferred stock

During 20X6, ZZ7 reported net income of $115,600 and had 200,000 shares of common stock and 1,000 shares of preferred stock outstanding
for the entire vear. Z/Z7’s 10%, $100 par value preferred shares are each convertible into 40 shares of common stock. The tax rate 1s 40%.
Compute basic and diluted EPS.

Answer:
£115600-510000

= $0.53
200000

Step 1: Calculate 20X6 basic EPS: basic EPS =
Step 2: Calculate diluted EPS:

* Compute the increase in common stock outstanding if the preferred stock 1s converted to common stock at the beginning of 20X6:
(1,000)(40) = 40,000 shares.

* If the convertible Freferred shares were converted to common stock, there would be no preferred dividends paid. Therefore, you should add
back the convertible preferred dividends that had previously been subtracted from net income in the numerator.

* Compute diluted EPS as if the convertible preferred stock were converted into common stock:

net.inc. —pref.div + convert.pref.dividends _ $115600 — $10000 + $10000
wt.avg. shares + convert.pref.common shares 200000 + 40000

diluted EPS =
=$0.48

Check to see if diluted EPS i1s less than basic EPS ($0.48 < $0.53). If the answer 1s yes, the preferred stock 1s dilutive and must be included in
diluted EPS as computed above. If the answer is no, the preferred stock 1s antidilutive and conversion effects are not included n diluted EPS.

A quck way to check whether convertible preferred stock 1s dilutive 1s to divide the preferred dividend by the number of shares that will be
created 1if the preferred stock 1s converted. For ZZ7:

$100x0.10 = $0.25
40

Since this is less than basic EPS, the convertible preferred is dilutive.
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Example 3: EPS with stock options

During 20X6, ZZZ reported net income of $115,600 and had 200,000 shares of common stock outstanding for the entire year.
ZZ7 also had 1,000 shares of 10%, $100 par, preferred stock outstanding during 20X6. ZZZ has 10,000 stock options (or
warrants) outstanding the entire year. Each option allows its holder to purchase one share of common stock at $15 per share.
The average market price of ZZZ’s common stock during 20X6 1s $20 per share. Compute the diluted EPS.

Answer:
Number of common shares created if the options are exercised 10000 shares
Cash inflow if the options are exercised ($15/share) (10000) $150000
Number of shares that can be purchased with these funds is: $150000/$20 7500 shares
Net increase in common shares outstanding from the exercise of the stock options (10000 - 7500) 2500 shares

$115600 — $10000

diluted EPS = 500000 + 2500 = $0.52

A quick way to calculate the net increase in common shares from the potential exercise of stock options or warrants when the exercise price 1s
AMP—EP] % N

AMP

less than the average market price 1s: [

where:

AMP = average market price over the year

EP = exercise price of the options or warrants

N = number of common shares that the options and warrants can be converted into

$20-515
520

®x 10000 shares = 2500 shares

For £Z7:
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Example 4: EPS with convertible bonds, convertible preferred, and options

During 20X6, ZZZ reported net income of $115,600 and had 200,000 shares of common stock outstanding for the entire year. ZZZ had 1,000
shares of 10%, $100 par convertible preferred stock, convertible into 40 shares each, outstanding for the entire year. ZZZ also had 600, 7%,

$1,000 par value convertible bonds, convertible into 100 shares each, outstanding for the entire year. Finally, ZZ7 had 10,000 stock options
outstanding during the year. Each option 1s convertible into one share of stock at $15 per share. The average market price of the stock for the
year was $20. What are Z77’s basic and diluted EPS? (Assume a 40% tax rate.)

Answer:

Step 1: From Examples 1, 2, and 3, we know that the convertible preferred stock, convertible bonds, and stock options are all dilutive. Recall
that basic EPS was calculatﬁd as:
$115600 — $10000

basic EPS = = $0.53
s 200000 :
Step 2: Review the number of shares created by converting the convertible securities and options (the denominator):
Converting the convertible preferred shares 40000 shares
Converting the convertible bonds 60000 shares
Exercising the options 2500 shares
Step 3: Review the adjustments to net income (the mumerator):
Converting the convertible preferred shares $10000
Converting the convertible bonds $25200
Exercising the options $0

Step 4: Compute ZZ7’s diluted EPS:
$115600 — $10000 + $10000 + $25200

diluted EPS = — 000 00— 0000 + 60000 + 2500 047
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A vertical common-size income statement expresses each category of the income statement as a percentage of
revenue. The common-size format standardizes the income statement by eliminating the effects of size. This
allows for comparison of income statement items over time (time-series analysis) and across firms (cross-

sectional analysis). For example, the following are year-end income statements of industry competitors North
Company and South Company:
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North Co. South Co.
Revenue $75,000,000 $3,500,000

Cost of goods sold (52,500,000) (700,000)
Gross profit $22,500,000 $2,800,000
Administrative expense (11,250,000) (525,000)
Research expense (3,750,000) (700,000)

Operating profit $7,500,000 $1,575,000



Notice that North is significantly larger and more profitable than South when measured in
absolute dollars. North’s gross profit is $22,500,000, as compared to South’s gross profit of
$2,800,000. Similarly, North’s operating profit of $7,500,000 is significantly greater than
South’s operating profit of $1,575,000.
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Once we convert the income statements to common-size format, we can see that South is
the more profitable firm on a relative basis. South’s gross profit of 80% and operating profit
of 45% are significantly greater than North’s gross profit of 30% and operating profit of
10%.
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Revenue

Cost of goods sold
Gross profit
Administrative
expense

Research expense
Operating profit

North Co.

100%
(70%)
30%

(15%)

(5%)
10%

South Co.

100%
(20%)
80%

(15%)

(20%)
45%



Common-size analysis can also be used to examine a firm’s strategy. South’s higher
gross profit margin may be the result of technologically superior products. Notice
that South spends more on research than North on a relative basis. This may allow
South to charge a higher price for its products.
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In most cases, expressing expenses as a percentage of revenue Is appropriate. One

exception Is income tax expense. Tax expense is more meaningful when expressed
as a percentage of pre-tax income. The result is known as the effective tax rate.
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Sixth Lecture
Understanding Income Statements 4

e Evaluate a company’s financial performance using common-size
Income statements and financial ratios based on the income statement.

e Describe other comprehensive income and identify major types of
items included in it.



Evall pany’s financial performance using comm come
ts and financl S b 1 the Income s

Margin ratios can be used to measure a firm’s profitability quickly. Gross profit margin is the
ratio of gross profit (revenue minus cost of goods sold) to revenue (sales).
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Gross profit margin can be increased by raising prices or reducing production costs. A firm might
be able to increase prices if its products can be differentiated from other firms’ products as a
result of factors such as brand names, quality, technology, or patent protection. This was
illustrated in the previous example whereby South’s gross profit margin was higher than North’s.
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Another popular margin ratio is net profit margin. Net profit margin is the ratio of net income to
revenue.
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Net profit margin measures the profit generated after considering all expenses. Like gross profit
margin, net profit margin should be compared over time and with the firm’s industry peers.
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Any subtotal found in the income statement can be expressed as a percentage of revenue. For
example, operating profit divided by revenue Is known as operating profit margin. Pre-tax
accounting profit divided by revenue is known as pre-tax margin.

cd\_ml\ d.\.\.ua <alal ) Mj.m 4\_1.»4.\5 d;ﬂ\ \.\.1 u\_\JSA )SA LS‘ \ uSA.\ 4.4\ | OJL»Y\ JJ;.}
LA&M}A\J&S E_w‘)j\}ww@b u}ALAS u\d\}Y\ (;L’u.:j ﬁjw@b ;\).A-t:-d;fhmﬂ L; L&u‘)u



.1". ; I/L ‘.]‘;\)II]I E W LI.
in in it

“VivAuwwuia | it

At the end of each accounting period, the net income of the firm Is

added to stockholders’ equity through an account known as retained

earnings. Therefore, any transaction that affects the income statement

(net income) will also affect stockholders’ equity.
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Recall that net income is equal to revenue minus expenses. Comprehensive income is a more inclusive measure
that includes all changes in equity except for owner contributions and distributions. That is, comprehensive
income is the sum of net income and other comprehensive income. Other comprehensive income includes
transactions that are notincluded in net income, such as:

» Foreign currency translation gains and losses.

» Adjustments for minimum pension liability.

» Unrealized gains and losses from cash flow hedging derivatives.
» Unrealized gains and losses from available-for-sale securities.
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Available-for-sale securities are investment securities that are not expected to be held to
maturity or sold in the near term. Available-for-sale securities are reported on the balance
sheet at fair value. The unrealized gains and losses (the changes in fair value before the
securities are sold) are not reported in the income statement but are reported directly in
stockholders’ equity as a component of other comprehensive income.
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Because firms have some flexibility of including or excluding transactions from net income,
analysts must examine comprehensive income when comparing financial performance with
other firms.

L,,J.:; u.\a_uc\_\\ﬁ cd;ﬂ\ @\.mu.ewg_:)u\.xa J\a_m.n\ j‘um‘:.\g‘u)ﬂ\um\.@_dg_ﬂs)uﬂ\ u\ J\_uc\_\



o Example: Calculating comprehensive income

Calculate comprehensive income for Triple C Corporation using the selected financial statement data
found in the following table.

Triple C Corporation — Selected Financial Statement Data

Net income 1000

Dividends received from available-for-sale securities 60
Unrealized loss from foreign currency translation (15)
Dividends paid (110)
Reacquire common stock (400)

Unrealized gain from cash flow hedge 30
Unrealized loss from available-for-sale securities (10)

Realized gain on sale of land 65



e Answer:

Net income 1000
Unrealized loss from foreign currency translation (15)
Unrealized gain from cash flow hedge 30

Unrealized loss from available-for-sale securities  (10)

The dividends received for available-for-sale securities and the realized gain on the sale of land are
already included in net income. Dividends paid and the reacquisition of common stock are
transactions with shareholders, so they are not included in comprehensive income.
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o Example:

The Hall Corporation had 100,000 shares of common stock outstanding at the beginning of the year.
Hall issued 30,000 shares of common stock on May 1. On July 1, the company issued a 10% stock
dividend. On September 1, Hall issued 1,000, 10% bonds, each convertible into 21 shares of common
stock. What is the weighted average number of shares to be used in computing basic and diluted EPS,
assuming the convertible bonds are dilutive?

Average shares, basic Average shares, dilutive
A. 132,000 139,000
B. 132,000 146,000

C. 139,000 146,000



e Example:

Given the following information, how many shares should be used in computing
diluted EPS?

0 300000 shares outstanding.

0 100000 warrants exercisable at $50 per share.
0 Average share price is $55.

o0 Year-end share price is $60.

o A.9,091.

 B. 90,9009.

e C. 309,091.



e Example:

An analyst gathered the following information about a company:

0 100000 common shares outstanding from the beginning of the year.
o Earnings of $125000.

01000, 7%, $1000 par bonds convertible into 25 shares each, outstanding as of the
beginning of the year.

0 The tax rate is 40%.

The company’s diluted EPS is c/osest to:
o A.$1.22.

* B. $1.25.

o C. $1.34.



o Example:

An analyst has gathered the following information about a company:

0 50000 common shares outstanding from the beginning of the year.

o Warrants outstanding all year on 50000 shares, exercisable at $20 per share.
o Stock is selling at year end for $25.

o The average price of the company’s stock for the year was $15.

How many shares should be used in calculating the company’s diluted EPS?
« A. 16,667.

 B. 50,000.

» C. 66,667.



e Example:

Which of the following transactions affects owners’ equity but
does not affect net income?

 A. Foreign currency translation gain.
 B. Repaying the face amount on a bond issued at par.
 C. Dividends received from available-for-sale securities.




e Example:

Which of the following 1s /east likely to be included when
calculating comprehensive income?

* A. Unrealized loss from cash flow hedging derivatives.
 B. Unrealized gain from available-for-sale securities.
 C. Dividends paid to common shareholders.




e Example:

A vertical common-size Income statement expresses each
category of the income statement as a percentage of:

e A. assets.
* B. gross profit.
e C. revenue.



e Example:

Which of the following would most likely result in higher
gross profit margin, assuming no fixed costs?

e A. A 10% increase in the number of units sold.
* B. A5% decrease in production cost per unit.
e C. A 7% decrease In administrative expenses.
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Seventh Lecture

Understanding Balance Sheets 1

e Describe the elements of the balance sheet: assets, liabilities and
equity.

 Describe uses and limitations of the balance sheet in financial analysis.

 Describe alternative formats of balance sheet presentation.

e Distinguish between current and non-current assets and current and
non-current liabilities.

 Describe different types of assets and liabilities and the measurement
bases of each.




While the income statement presents a picture of a firm’s economic activities over a period
of time, its balance sheet Is a snapshot of its financial and physical assets and its liabilities at
a point in time. Just as with the income statement, understanding balance sheet accounts,
how they are valued, and what they represent, is also crucial to the financial analysis of a
firm. Again, different choices of accounting methods and different accounting estimates will
affect a firm’s financial ratios, and an analyst must be careful to make the necessary
adjustments in order to compare two or more firms. Special attention should be paid to the
method by which each balance sheet item Is calculated and how changes in balance sheet
values relate to the income statement and to shareholders’ equity.
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The balance sheet (also known as the statement of financial position or statement of
financial condition) reports the firm’s financial position at a point in time. The balance sheet
consists of assets, liabilities, and equity.
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Assets. Resources controlled as a result of past transactions that are expected to provide
future economic benefits.
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Liabilities. Obligations as a result of past events that are expected to require an outflow of
economic resources.
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Equity. The owners’ residual iInterest In the assets after deducting the
liabilities. Equity is also referred to as stockholders’ equity, shareholders’
equity, or owners’ equity. Analysts sometimes refer to equity as “net assets.”
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A financial statement item should be recognized if a future economic benefit
from the item (flowing to or from the firm) is probable and the item’s value or

cost can be measured reliably.
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The balance sheet can be used to assess a firm’s liquidity,
solvency, and ability to make distributions to shareholders.
From the firm’s perspective, liquidity Is the ability to meet
short-term obligations and solvency is the ability to meet long-
term obligations.
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The balance sheet elements (assets, liabilities, and equity) should not be interpreted as
market value or intrinsic value. For most firms, the balance sheet consists of a mixture of
values. For example, some assets are reported at historical cost, some are reported at
amortized cost, and others may be reported at fair value. There are numerous valuation
bases. Even if the balance sheet was reported at fair value, the value may have changed
since the balance sheet date. Also, there are a number of assets and liabilities that do not
appear on the balance sheet but certainly have value. For example, the value of a firm’s
employees and reputation is not reported on the balance sheet.
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Both IFRS and U.S. GAAP require firms to separately report their current assets and
noncurrent assets and current and noncurrent liabilities. The current/noncurrent
format is known as a classified balance sheet and is useful in evaluating liquidity.

g)u‘yu Lally s )m\ c\_& )A‘y\ mh_d\ (s s uw Bt )um ey u Sl ﬁu\ e JS a3k

M;.\....J\e.usaé\_\hc Lﬁoiﬂk‘\.’_}mﬂ o&jw\@ﬁﬂ\@\ﬂ\ e...nb.dj\d.\d\):\.c/

Under IFRS, firms can choose to use a liquidity-based format if the presentation is

more relevant and reliable. Liquidity-based presentations, which are often used in
the banking industry, present assets and liabilities in the order of liquidity.
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Current assets iInclude cash and other assets that will likely be
converted Into cash or used up within one year or one operating cycle,
whichever Is greater. The operating cycle is the time it takes to produce
or purchase inventory, sell the product, and collect the cash. Current
assets are usually presented In the order of their liquidity, with cash
being the most liquid. Current assets reveal information about the
operating activities of the firm.
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Current liabilities are obligations that will be satisfied within one year or one
operating cycle, whichever is greater. More specifically, a liability that meets any of
the following criteria is considered current:

o Settlement is expected during the normal operating cycle.

 Settlement is expected within one year.

« Held primarily for trading purposes.

* There is not an unconditional right to defer settlement for more than one year.
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Current assets minus current liabilities equals working capital. Not enough working capital
may indicate liquidity problems. Too much working capital may be an indication of
Inefficient use of assets.
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Noncurrent assets do not meet the definition of current assets because they will not be
converted into cash or used up within one year or operating cycle. Noncurrent assets
provide information about the firm’s investing activities, which form the foundation upon
which the firm operates.
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Noncurrent liabilities do not meet the criteria of current liabilities. Noncurrent liabilities
provide information about the firm’s long-term financing activities.
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e Current Assets

Current assets include cash and other assets that will be converted into cash or used
up within one year or operating cycle, whichever is greater.
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Cash and cash equivalents. Cash equivalents are short-term, highly liquid
Investments that are readily convertible to cash and near enough to maturity that
Interest rate risk Is insignificant. Examples of cash equivalents include Treasury
bills, commercial paper, and money market funds. Cash and equivalents are
considered financial assets.
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Generally, financial assets are reported on the balance sheet at amortized cost
or fair value. For cash equivalents, either measurement base should result in
about the same value.
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Marketable securities. Marketable securities are financial assets that are
traded In a public market and whose value can be readily determined.
Examples include Treasury bills, notes, bonds, and equity securities. Details
of the investment are disclosed in the financial footnotes.
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Accounts receivable. Accounts receivable (also known as trade receivables) are financial
assets that represent amounts owed to the firm by customers for goods or services sold on
credit. Accounts receivable are reported at net realizable value, which is based on
estimated bad debt expense. Bad debt expense increases the allowance for doubtful
accounts, a contra-asset account. A contra account Is used to reduce the value of its
controlling account. Thus, gross receivables less the allowance for doubtful accounts is
equal to accounts receivable at net realizable value, the amount the firm expects to collect.
When receivables are “written off” (removed from the balance sheet because they are
uncollectible), both gross receivables and the allowance account are reduced.
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Firms are required to disclose significant concentrations of credit risk,
Including customer, geographic, and industry concentrations.
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Analysing receivables relative to sales can reveal collection problems.
The allowance for doubtful accounts should also be considered relative
to the level and growth rate of sales. Firms can underestimate bad debt
expense, thereby increasing reported earnings.
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Inventories. Inventories are goods held for sale to customers or used in manufacture
of goods to be sold. Manufacturing firms separately report inventories of raw
materials work In- process and finished goods.
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The costs Included in inventory include purchase cost, conversion costs, and other
costs necessary to bring the inventory to its present location and condition. Costs
that are excluded from inventory include abnormal waste, including material, labour,
and manufacturing overhead. Storage costs (unless they are necessary as a part of
the production process), administrative overhead, and selling costs are also
excluded.
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Standard costing and the retail method are used by some firms to measure inventory costs.
Standard costing, often used by manufacturing firms, involves assigning predetermined
amounts of materials, labour, and overhead to goods produced. Firms that use the retail
method measure inventory at retail prices and then subtract gross profit in order to
determine cost.
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Using different cost flow assumptions (also known as cost flow methods), firms assign
Inventory costs to the income statement (cost of goods sold). As discussed in the topic of
Understanding Income Statements, FIFO and average cost are permitted under both IFRS

and U.S. GAAP LIFO is permitted under U.S. GAAP but is prohibited under IFRS.
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Inventories are reported at the lower of cost or net realizable value under IFRS, and under U.S.
GAAP for companies that use inventory cost methods other than LIFO or retail. Net realizable value
Is equal to the selling price less any completion costs and disposal (selling) costs. Under U.S. GAAP,
companies using LIFO or the retail method report inventories at the lower of cost or market. Market
Is usually equal to replacement cost; however, market cannot be greater than net realizable value or
less than net realizable value less a normal profit margin. If net realizable value (IFRS) or market
(U.S. GAAP) is less than the inventory’s carrying value, the inventory is written down and a loss is
recognized in the income statement. If there is a subsequent recovery in value, the inventory can be
written back up under IFRS. No write-up is allowed under U.S. GAAP; the firm simply reports
greater profit when the inventory is sold.
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Other current assets. Other current assets are amounts that may not be material if shown
separately; thus, the items are combined into a single amount. Examples include prepaid
expenses and deferred tax assets. Prepaid expenses are operating costs that have been paid
In advance. As the costs are actually incurred, an expense is recognized in the income
statement and prepaid expenses (an asset) decrease. For example, if a firm makes an annual
rent payment of $400,000 at the beginning of the year, an asset (cash) decreases and another
asset (prepaid rent) increases by the amount of the payment. At the end of three months,
one-quarter of the prepaid rent has been used. At this point, the firm will recognize
$100,000 of rent expense in its income statement and reduce assets (prepaid rent) by
$1OO 000.
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Deferred taxes are considered as the result of temporary differences between financial
reporting income and tax reporting income.
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Deferred tax assets are created when the amount of taxes payable exceeds the amount of
Income tax expense recognized in the income statement. This can occur when expenses or
losses are recognized in the income statement before they are tax deductible, or when
revenues or gains are taxable before they are recognized in the income statement.
Eventually, the deferred tax asset will reverse when the expense Is deducted for tax
purposes or the revenue is recognized in the income statement. Deferred tax assets can also
be created from unused tax losses.

Ol (o8 Loy < imal) Jaal) 488 s due Asaiiaal) Ay puall alae ) lay Lasie Ala gall Ay juiall J gl 0 oS5 o
o ezl (e lpaad J8 Jaall Gl A ileal) o cld s peadd) Gil) S Laie Gy o) Say 1385 Jaal)
Sy g il Aled A Jaal) Gl 8 L) o ) Jid A jeall el Sl gl clal ) oS5 Lasie
Al Gl g8l ) ) S Laxie gl A gall Gl e M Cli g padll aad 26 Ladie dla gall dy gl Jual

Aariid) ye Ay peall al) (e Al gall il juall J geal oL Uil oS0 S



e Current Liabilities

Currentt liabilities are obligations that will be satisfied within one year or operating cycle, whichever
IS greater.
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Accounts payable. Accounts payable (also known as trade payables) are amounts the firm owes to
suppliers for goods or services purchased on credit. Analysing payables relative to purchases can
signal credit problems with suppliers.
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Notes payable and current portion of long-term debt, Notes payable are obligations in the form of
promissory notes owed to creditors and lenders. Notes payable can also be reported as noncurrent
liabilities if their maturities are greater than one year. The current portion of long-term debt is the
principal portion of debt due within one year or operating cycle, whichever is greater.
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Accrued liabilities. Accrued liabilities (accrued expenses) are expenses that have been recognized in
the income statement but are not yet contractually due. Accrued liabilities result from the accrual
method of accounting, under which expenses are recognized as incurred. For example, consider a
firm that is required to make annual year-end interest payments of $100,000 on an outstanding bank
loan. At the end of March, the firm would recognize one-quarter ($25,000) of the total interest
expense in its income statement and an accrued liability would be increased by the same amount,
even though the liability is not actually due until the end of the year.
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Some firms include income tax payable as an accrued liability. Taxes payable are current taxes that
have been recognized in the income statement but have not yet been paid. Other examples of accrued

liabilities include interest payable, wages payable, and accrued warranty expense.
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Unearned revenue. Unearned revenue (also known as unearned income, deferred revenue,
or deferred income) is cash collected in advance of providing goods and services. For
example, a magazine publisher receives subscription payments in advance of delivery.
When payment is received, assets (cash) and liabilities (unearned revenue) increase by the
same amount. As the magazines are delivered, the publisher recognizes revenue in the
Income statement and reduces the liability.
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When analysing liquidity, keep in mind that unearned revenue does not require a future
outflow of cash like accounts payable. Also, unearned revenue may be an indication of
future growth as the revenue will ultimately be recognized in the income statement.
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Eighth Lecture

Understanding Balance Sheets 2

 Describe different types of assets and liabilities and the measurement
pases of each.

 Describe the components of shareholders’ equity.

e Convert balance sheets to common-size balance sheets and interpret
common-size balance sheets.

 Calculate and interpret liquidity and solvency ratios.
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e Non-Current Assets

Property, plant, and equipment. Property, plant, and equipment (PP&E) are tangible
assets used in the production of goods and services. PP&E includes land and buildings,
machinery and equipment, furniture, and natural resources. Under IFRS, PP&E can be
reported using the cost model or the revaluation model. Under U.S. GAAP, only the
cost model is allowed.
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Under the cost model, PP&E other than land is reported at amortized cost (historical
cost minus accumulated depreciation, amortization, depletion, and impairment losses).
Land is not depreciated because it has an indefinite life. Historical cost includes the
purchase (prlc_:e plus any cost necessary to get the asset ready for use, such as delivery
and installation costs. "It is |onortan_ to mention that the balance sheet and income
statement are affected by the depreciation method and related estimates (i.e., salvage
value and useful life of assets).
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Also under the cost model, PP&E must be tested for impairment. An asset is impaired if its
carrying value exceeds the recoverable amount. Under IFRS, the recoverable amount of an
asset Is the greater of fair value less any selling costs, or the asset’s value in use. Value In
use is the present value of the asset’s future cash flow stream. If impaired, the asset is
written down to its recoverable amount and a loss is recognized in the income statement.
Loss recoveries are allowed under IFRS but not under U.S. GAAP.
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Under the revaluation model, PP&E is reported at fair value less any accumulated
depreciation. Changes in fair value are reflected in shareholders’ equity and may be
recognized in the income statement in certain circumstances.
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Investment property. Under IFRS, investment property includes assets
that generate rental income or capital appreciation. U.S. GAAP does not
have a specific definition of iInvestment property. Under IFRS,
Investment property can either be reported at amortized cost (just like
PP&E) or fair value. Under the fair value model, any change In fair
value Is recognized in the iIncome statement.
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Intangible assets. Intangible assets are non-monetary assets that lack
physical substance. Securifies are not considered intangible assets. Intangible
assets are either identifiable or unidentifiable. Identifiable intangible assets
can be acquired separately_ or are the result of rights or privileges conveyed to
their owner. Examples of identifiable intangibles are patents, frademarks, and
copyrights. Unidentifiable intangible assets cannot be acquired separately
and may have an unlimited life. The best example of an unidentifiable
Intangible asset is goodwill.
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Under IFRS, identifiable intangibles that are purchased can be reported on the balance sheet
using the cost model or the revaluation model, although the revaluation model can only be
used if an active market for the intangible asset exists. Both models are basically the same
aic,l the dmeasurement models used for PP&E. Under U.S. GAAP, only the cost model is
allowed.
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Except for certain legal costs, intangible assets that are created internally, such as research
and development costs, are expensed as incurred under U.S. GAAP. Under IFRS, a firm
must identify the research stage (discovery of new scientific or technical knowledge) and
the development stage (using research results to plan or design products). Under IFRS, the
firm must expense costs incurred during the research stage but can capitalize costs incurred
during the development stage.
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Finite-lived intangible assets are amortized over their useful lives and
tested for impairment in the same way as PP&E. The amortization
method and useful life estimates are reviewed at least annually.
Intangible assets with infinite lives are not amortized, but are tested for
Impairment at least annually.
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Under éFRS and U.S. GAAP, all of the following should be expensed as
Incurred:

e Start-up and training costs.
o Administrative overhead.
 Advertising and promotion costs.
* Relocation and reorganization costs.
 Termination costs.
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Goodwill. Goodwill is the excess of purchase price over

the fair value of the identifiable net assets (assets minus

liabilities) acquired in a business acquisition. Let’s look

at an example of calculating goodwill.
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Example: Goodwill

Wood Corporation paid $600 million for the outstanding stock of Pine Corporation. At the acquisition date, Pine reported the
following condensed balance sheet.

Pine Corporation — Condensed Balance Sheet

Pine Corporation — Condensed Balance Sheet Book Value (Millions)
Current Assets S80

Plant and equipment, net 760

Goodwill 30

Liabilities 400

Stockholder’s equity 470

The fair value of the plant and equipment was $120 million more than its recorded book value. The fair values of all other
identifiable assets and liabilities were equal to their recorded book values. Calculate the amount of goodwill Wood should

report on its consolidated balance sheet.
Book Value (Millions)

Answer: Current Assets 80
Plant and equipment, net 880
Liabilities (400)
Fair value of net assets 560
Purchase price 600
Less: Fair value of net assets (560)
Acquisition goodwill 40

Goodwill is equal to the excess of purchase price over the fair value of identifiable assets and liabilities acquired. Plant and
equipment was “written up” by $120 million to reflect fair value. The goodwill reported on Pine’s balance sheet is an
unidentifiable asset and is thus ignored in the calculation of Wood’s goodwill.
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Acquirers are often willing to pay more than the fair value of the target’s identifiable
net assets because the target may have assets that are not reported on its balance
sheet. For example, the target’s reputation and customer loyalty certainly have
value; however, the value is not quantifiable. Also, the target may have research and
development assets that remain off-balance-sheet because of current accounting
standards. Finally, part of the acquisition price may reflect perceived synergies from
the business combination. For example, the acquirer may be able to eliminate
duplicate facilities and reduce payroll as a result of the acquisition.
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Note: Occasionally the purchase price of an acquisition is less than fair value of the
identifiable net assets. In this case, the difference is immediately recognized as a
gain in the acquirer’s income statement.
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Since goodwill 1s not amortized, firms can manipulate net income upward by

allocating more of the acquisition price to goodwill and less to the identifiable

assets. The result is less depreciation and amortization expense, resulting in higher

net income.
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Accounting goodwill should not be confused with economic goodwill. Economic
goodwill derives from the expected future performance of the firm, while
accounting goodwill is the result of past acquisitions.
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When computing ratios, analysts should eliminate goodwill from the balance sheet
and goodwill impairment charges from the income statement for comparability.
Also, analysts should evaluate future acquisitions in terms of the price paid relative
to the earning power of the acquired assets.
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Financial assets, Financial instruments are contracts that give rise to both a
financial asset of one entity and a financial liability or equity instrument of
another entity. Financial instruments can be found on the asset side and the
liability side of the balance sheet. Financial assets include Investment
securities (stocks and bonds), derivatives, loans, and receivables.
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Financial instruments are measured at historical cost, amortized cost, or fair
value. Financial assets measured at historical cost include unquoted equity
Investments (whereby fair value cannot be reliably measured) and loans to
and receivables from other entities.
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Financial assets measured at amortized cost are known as held-to-maturity
securities. Held-to-maturity securities are debt securities acquired with the
Intent to be held to maturity. Amortized cost is equal to the original issue
price minus any principal payments, plus any amortized discount or minus
any amortized premium, minus any impairment losses. Subsequent changes
In market value are ignored.
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Financial assets measured at fair value, also known as mark-to-market
accounting, include trading securities, available-for-sale securities, and
derivatives.
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Trading securities (also known as held-for-trading securities) are debt and equity securities acquired
with the intent to profit over the near term. Trading securities are reported on the balance sheet at fair
value, and the unrealized gains and losses (changes in market value before the securities are sold) are
recognized In the income statement. Unrealized gains and losses are also known as holding period
gains and losses. Derivative instruments are treated the same as trading securities.
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Available-for-sale securities are debt and equity securities that are not expected to be held to
maturity or traded in the near term. Like trading securities, available-for-sale securities are reported
on the balance sheet at fair value. However, any unrealized gains and losses are not recognized in the
Income statement, but are reported in other comprehensive income as a part of shareholders’ equity.

Al Al L L s alid) o alaaiuy) s Lo Jalaia) a8 60 Y Adle (5 56l 5 cpa Colaia Ll Zaliall W) G515V
g j’i TR gfj ST 2eails Ton gl 5T paall b ) ) e B =150 ‘ﬁ\ﬁ L) 3,9 B
GBsaa e e aS DAY Jaldl JRal 4 Llatus o (& ¢Jaall Qgeg@qbzcwesgyas@ﬁ;m}\wﬁ

For all three classifications of securities, dividend and interest income and realized gains and losses

(actual gains or losses when the securities are sold) are recognized in the income statement.
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Figure 1 summarizes the different classifications and measurement
bases of financial assets.
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Figure 1: Financial Asset Classifications and Measurement Bases

Historical Cost Amortized Cost Fair Value
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Example: Classification of investment securities

Triple D Corporation purchased a 6% bond, at par, for $1,000,000 at the beginning of the year. Interest rates have recently increased and the
market value of the bond declined $20,000. Determine the bond’s effect on Triple D’s financial statements under each classification of securities.

Answer:

If the bond is classified as a held-to-maturity security, the bond is reported on the balance sheet at $1,000,000. Interest income of $60,000
[$1,000,000 x 6%] is reported in the income statement.

If the bond is classified as a trading security, the bond is reported on the balance sheet at $980,000. The $20,000 unrealized loss and $60,000 of
interest income are both recognized in the income statement.

If the bond is classified as an avar/able-for-sale security, the bond is reported on the balance sheet at $980,000. Interest income of $60,000 is
recognized in the income statement. The $20,000 unrealized loss is not recognized in the income statement. Rather, it is reported as a change in
stockholders’ equity.
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e Non-Current Liabilities

Lon%-term financial liabilities. Financial liabilities include bank loans, notes
payable, bonds payable, and derivatives. If the financial liabilities are not
Issued at face amount, the liabilities are usually reported on the balance sheet
at amortized cost. Amortized cost Is equal to the issue price minus any
principal payments, plus any amortized discount or minus any amortized
premium.
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In some cases, financial liabilities are reported at fair value. Examples include
hdd-f(_)l’-tl‘&dlﬂ%llabllItIeS_SUC_)h as a short position in a stock (which may be
classified as a short-term liability) and derivative liabilities.
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Deferred tax liabilities. Deferred tax liabilities are amounts of income taxes
|o_a able in future periods as a result of taxable temporary differences. Deferred tax
liabilities are created when the amount of income tax expense recognized in the
Income statement |s_greater than taxes payable. This can occur when expenses or
losses are tax deductible before they are recognized in the income statement. A good
example is when a firm uses an accelerated depreciation method for tax purposes
and the straight-line method for financial rpport_lng%. Deferred tax liabilities are also
created when revenues or gains are recognized in the income statement before they
are taxable. For example, a firm often recogEnlzes the earnings of a subsidiary before
any distributions (dividends) are made. Eventually, deferred tax liabilities will
reverse when the taxes are paid.
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. components of shareho

Owners’ equity is the residual interest in assets that remains after subtracting an entity’s
liabilities. Owners’ equity includes contributed capital, preferred stock, treasury stock,
retained earnings non- controlling Interest, and accumulated other comprehensive income.
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Contributed capital (also known as issued capital) 1s the amount contributed by equity
shareholders.
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The par value of common stock is a stated or legal value. Par value has no relationship to
fair value. Some common shares are even issued without a par value. When par value exists,
It 1s reported separately in stockholders’ equity. In that case, the total proceeds from issuing
an equity security are the par value of the issued shares plus "additional paid-in capital."
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Also disclosed Is the number of common shares that are authorized, issued,
and outstandln?_. Authorized shares are the number of shares that may be
sold under the Tirm’s articles of incorporation. Issued shares are the number
of shares that have actually been sold to shareholders. The number of
outstanding shares is equal to the Issued shares less shares that have been
reacquired by the firm (i.e., treasury stock).
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Preferred stock has certain rights and privileges not conferred by common
stock. For example, preferred shareholders are paid dividends at a specified
rate, usually expressed as a percentage of par value, and have priority over the
claims of the common shareholders in the event of liquidation.
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Preferred stock can be classified as debt or equity, dependlnlg on the terms.
For example, perpetual preferred stock that Is non-redeemable is considered
equity. However, preferred stock that calls for manaatory redemption in fixed
amounts is considered a financial liability.

e inn oA el agall iy Y aay ASL Ban 0y o T JEl e Al
" ) Ll W ol ald cjt_m » dal HTY u.\s‘j aal) ala yil

Noncontrolling interest (minority interest) is the minority shareholders’ pro-
rata share of the net assets (equity) of a subsidiary that 1S not wholly owned
by the parent.
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Retained earnin%ﬁ are the undistributed earnings (net income) of the firm

since inception, the cumulative earnings that have not been paid out to
shareholders as dividends.
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Treasury stock is stock that has been reacquired by the issuing firm but not
yet retired. Treasury stock reduces stockholders’ equity. It does not represent
an investment in the firm. Treasury stock has no voting rights and does not
recelve dividends.
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Accumulated other comprehensive Income includes all changes In
stockholders’ equity except for transactions recognized iIn the income
statement (net income) and transactions with shareholders, such as issuing
stock, reacquiring stock, and paying dividends.

el ;.Lu.wb umw\ djh @ ub.uuj\ A )AY\ ES‘)MJ\ dA\.uJ\ d;ﬂ\ d.m.u
sale) 5 cagul laal Jie Guedluall Lo claladll g (J3all Lila) Jaall Ly 8 e b jindl
CLU‘)[\ c_al.a_uj.\je@_uy\ el



As discussed In the topic review of Understanding Income Statements,
comprehensive income aggregates net income and certain special transactions that
are not reported Iin the income statement but that affect stockholders’ equity. These
special transactions comprise what i1s known as “other comprehensive income.”
omprehensive income is equal to net income plus other comprehensive income.
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Note: It is easy to confuse the two terms “comprehensive income” and “accumulated
other comprehensive income.” Comprehensive income IS an income measure over a
period of time. It includes net income and other comprehensive income for the
period. Accumulated other comprehensive income does not include net income but
IS a component of stockholders’ equity at a point in time.
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The statement of changes iIn stockholders’ equity summarizes all
transactions that increase or decrease the equity accounts for the period. The
statement includes transactions with shareholders and reconciles the
beginning and ending balance of each equity account, including capital stock,
additional paid-in-capital, retained earnings, and accumulated other
comprehensive income. In addition, the components of accumulated other
comprehensive income are disclosed (i.e., unrealized gains and losses from
available-for-sale securities, cash flow hedging derivatives, foreign currency
translation, and adjustments for minimum pension liability).
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A statement of changes in stockholders’ equity is illustrated in Figure 2.
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Figure 2: Sample Statement of Changes in Stockholders’ Equity

Common Stock Retained Earnings (thousands)  Accumulated Other Total
Comprehensive Income (Loss)

Beginning balance $49234 $26664 ($406) $75492
Net income 6994 6994
Net unrealized loss on (40) (40)

available-for-sale securities

Net unrealized loss on cash (56) (56)
flow hedges

Minimum pension liability (26) (26)
Cumulative translation 42 42
adjustment

Comprehensive income 6914
Issuance of common stock 1282 1282
Repurchases of common stock  (6200) (6200)
Dividends (2360) (2360)

Ending balance 44316 31298 (486) 75128



A vertical common-size balance sheet expresses each item of the
balance sheet as a percentage of total assets. The common-size format
standardizes the balance sheet by eliminating the effects of size. This
allows for comparison over time (time-series analysis) and across firms
(cross-sectional analysis). For example, following are the balance sheets
of industry competitors East Company and West Company.
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East West

Cash $2,300 $1,500
Accounts receivable 3,700 1,100
Inventory 5,500 900
Current assets 11,500 3,500
Plant and equipment 32,500 11,750
Goodwill 1,750 0
Total assets $45,750 $15,250
Current liabilities $10,100 $1,000
Long-term debt 26,500 5,100
Total liabilities 36,600 6,100
Equity 9,150 9,150
Total liabilities & equity $45,750 $15,250

East is obviously the larger company. By converting the balance sheets to common-size format, we can
eliminate the size effect.
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Cash
Accounts receivable
Inventory
Current assets
Plant and equipment
Goodwill

Total assets

Current liabilities
Long-term debt
Total liabilities

Equity

Total liabilities & equity

East
5%
8%

%
25%
71%
4%

100%

22%
58%
80%
20%

100%

West
10%
7%
6%
23%
7%
0%

100%

7%
33%
40%
60%

100%



East’s investment in current assets of 25% of total assets is slightly higher
than West’s current assets of 23%. However, East’s current liabilities of 22%
of total assets are significantly higher than West’s current liabilities of 7%.
Thus, East Is less liquid and may have more difficulty paying its current
obligations when due. However, West’s superior working capital position may
not be an efficient use of resources. The Investment returns on working
capital are usually lower than the returns on long-term assets.
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A closer look at current assets reveals that East reports less cash as a
percentage of assets than West. In fact, East does not have enough cash
to satisfy its current liabilities without selling more inventory and
collecting receivables. East’s inventories of 12% of total assets are
higher than West’s inventories of 6%. Carrying higher inventories may
be an indication of Inventory obsolescence. Further analysis of
inventory is necessary
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Not only are East’s current liabilities higher than West’s, but East’s long-term
debt of 58% of total assets is much greater than West’s long-term debt of
33%. Thus, East may have trouble satisfying its long-term obligations since
Its capital structure consists of more debt.
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Common-size analysis can also be used to examine a firm’s strategies. East
appears to be growing through acquisitions since it is reportm% goodwill.
West Is growing internally since no goodwill is reported. It could be that East
Is financing the acquisitions with debt.
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Balance sheet ratios compare balance sheet items only. Balance sheet
ratios, along with common-size analysis, can be used to evaluate a
firm’s liquidity and solvency. The results should be compared over time
(time-series analysis) and across firms (cross-sectional analysis).
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Liguidity ratios measure the firm’s ability to satisfy its short-term
obligations as they come due. Liquidity ratios include the current ratio,
the quick ratio, and the cash ratio.
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—. current assets
current ratio = : Habiliti

__ cash+marketable securities+receivables
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Although all three ratios measure the firm’s ability to pay current liabilities,
they should be considered collectively. For example, assume Firm A has a
higher current ratio but a lower quick ratio as compared to Firm B. This is the
result of higher inventory as compared to Firm B. The quick ratio is
calculated by excluding inventory from current assets. Similar analysis can be
performed by comparing the quick ratio and the cash ratio. The cash ratio is
calculated by excluding inventory and receivables.
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Solvency ratios measure the firm’s ability to satisfy its long-term obligations. Solvency ratios
Include the long-term debt-to-equity ratio, the total debt-to-equity ratio, the debt ratio, and the

financial leverage ratio.
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All four ratios measure solvency but they should be considered collectively.
For example, Firm A might have a higher long-term debt-to-equity ratio but a
lower total debt-to-equity ratio as compared to Firm B. This is an indication
that Firm B is utilizing more short-term debt to finance itself.
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When calculating solvency ratios, debt Is considered to be any interest

bearing obligation. On the other hand, the financial leverage ratio captures the
Impact of all obligations both interest bearing and non-interest bearing.
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Analysts must understand the limitations of balance sheet ratio analysis:

o Comparisons with peer firms are limited by differences in accounting standards
and estimates.

 Lack of homogeneity as many firms operate in different industries.
e Interpretation of ratios requires significant judgment.
 Balance sheet data are only measured at a single point in time.
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e Example 1:

Which of the following Is most likely an essential characteristic of an
asset?

A. An asset Is tangible.
B. An asset Is obtained at a cost.
C. An asset provides future benefits.

An asset IS a future economic benefit obtained or controlled as a result
of past transactions. Some assets are intangible (e.g., goodwill), and
others may be donated.



e Example 2:

Which of the following statements about analyzing the balance sheet is most
accurate?

A. The value of the firm’s reputation is reported on the balance sheet at
amortized cost.

B. Shareholders’ equity is equal to the intrinsic value of the firm.
C. The balance sheet can be used to measure the firm’s capital structure.

The balance sheet lists the firm’s assets, liabilities, and equity. The capital
structure I1s measured by the mix of debt and equity used to finance the
business.



e Example 3:
Century Company’s balance sheet follows:

Century Company Balance Sheet (in millions)

20X7 20X6
Current assets $340 $280
Noncurrent assets 660 630
Total assets $1,000 $910
Current liabilities S170 S110
Noncurrent liabilities 50 50
Total liabilities $220 S160
Equity $780 $750
Total liabilities and equity $1,000 $910

Century’s balance sheet presentation is known as a(n)?
A. classified balance sheet.

B. liquidity-based balance sheet.

C. account form balance sheet.

A classified balance sheet groups together similar items (e.g., current and noncurrent
assets and liabilities) to arrive at significant subtotals.



e Example 4:

Which of the following would most likely result in a current liability?
A. Possible warranty claims.

B. Future operating lease payments.

C. Estimated income taxes for the current year.

Estimated income taxes for the current year are likely reported as a
current liability. To recognize the warranty expense, it must be probable,
not just possible. Future operating lease payments are not reported on
the balance sheet.



e Example 5:

How should the proceeds received from the advance sale of tickets to a
sporting event be treated by the seller, assuming the tickets are non-
refundable?

A. Unearned revenue Is recognized to the extent that costs have been
Incurred.

B. Revenue Is recognized to the extent that costs have been incurred.
C. Revenue is deferred until the sporting event is held.

The ticket revenue should not be recognized until it is earned. Even though
the tickets are non-refundable, the seller is still obligated to hold the event.



e Example 6:

A vertical common-size balance sheet expresses each category of the
balance sheet as a percentage of:

A. assets.
B. equity.
C. revenue.

Each category of the balance sheet Is expressed as a percentage of total
assets.



e Example 7:

Which of the following inventory valuation methods Is required by the
accounting standard-setting bodies?

A. Lower of cost or net realizable value.
B. Weighted average cost.
C. First-in, first-out.

Inventories are required to be valued at the lower of cost or net
realizable value (or “market” under U.S. GAAP). FIFO and average
cost are two of the inventory cost flow assumptions among which a firm
has a choice.



e Example 8:

SF Corporation has created employee goodwill by reorganizing its retirement benefit package. An
independent management consultant estimated the value of the goodwill at $2 million. In addition,
SF recently purchased a patent that was developed by a competitor. The patent has an estimated
useful life of five years. Should SF report the goodwill and patent on its balance sheet?

Goodwill Patent
A. Yes No
B. No Yes
C. No No

Goodwill developed internally is expensed as incurred. The purchased patent is reported on the
balance sheet.



e Example 9:

At the beginning of the year, Parent Company purchased all 500,000 shares of
Sub Incorporated for $15 per share. Just before the acquisition date, Sub’s
balance sheet reported net assets of $6 million. Parent determined the fair
value of Sub’s property and equipment was $1 million higher than reported
by Sub. What amount of goodwill should Parent report as a result of its
acquisition of Sub?

A. $0.
B. $500,000.
C. $1,500,000.

Purchase price of $7,500,000 [$15 per share x 500,000 shares] — fair value of
net assets of $7,000,000 [$6,000,000 book value + $1,000,000 increase in
property and equipment] = goodwill of $500,000.



« Example 10:

Miller Corporation has 160,000 shares of common stock authorized.
There are 92,000 shares issued and 84,000 shares outstanding. How
many shares of treasury stock does Miller own?

A. 8,000.
B. 68,000.
C. 76,000.

The difference between the issued shares and the outstanding shares Is
the treasury shares.



e Example 11.

Which of the following ratios are used to measure a firm’s liquidity and
solvency?

Liquidity Solvency

A. Current ratio Quick Ratio

B. Debt-to-equity ratio Financial leverage ratio

C. Cash ratio Total debt ratio

The current ratio, quick ratio, and cash ratio measure liquidity. Debt-to-
equity, the total debt ratio, and the financial leverage ratio measure
solvency.
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Ninth Lecture

Understanding Cash Flow Statements 1

e Compare cash flows from operating, investin% and financing activities and
classify cash flow items as relating to one of those three categories given a
description of the items.

» Describe how non-cash investing and financing activities are reported.

e Contrast cash flow statements prepared under International Financial
Reporting Standards (IFRS) and US generally accepted accounting
orinciples (US GAAP).

 Distinguish between the direct and indirect methods of presenting cash from
operating activities and describe arguments in favour of each method.

e Describe how the cash flow statement is linked to the income statement and
the balance sheet.

» Describe the steps in the preparation of direct and indirect cash flow
statements, including how cash flows can be computed using income
statement and balance sheet data.




This topic review covers the third important required financial statement: the statement of
cash flows. Since the income statement is based on the accrual method, net income may not
represent cash generated from operations. A company may be generating positive and
growing net income but may be headed for insolvency because insufficient cash is being
generated from operating activities. Constructing a statement of cash flows, by either the
direct or indirect method, Is therefore very important in an analysis of a firm’s activities and
prospects. In this section, you understand the preparation of a statement of cash flows by
either method, the classification of various cash flows as operating, financing, or investing
cash flows, and the key differences in these classifications between U.S. GAAP and
International accounting standards.
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e The cash flow statement:

The cash flow statement provides information beyond that available from the
Income statement, which is based on accrual, rather than cash, accounting. The
cash flow statement provides the following:

 Information about a company’s cash receipts and cash payments during an
accounting period.

 Information about a company’s operating, investing, and financing activities.

« An understanding of the impact of accrual accounting events on cash flows.

GBaainy) alal o danladll ) s il Jaall Aald 6 daliall @l G gladi il glea sl saxil) Ly i
b Lo gl 38l gl g s ) Gl e ad

aad sl dpalaall 5l JMA sl cile il 5 A8 al aal) Cilia gl Jsa Cila slaa o

Ak satll o 4 jlaiiny) 5 el 48 al ddadil J s Cila glaa o

Aoanl) sl e glaain) (ol e Al 2 ggia 5ili agd o



The cash flow statement provides information to assess the firm’s liquidity, solvency, and
financial flexibility. An analyst can use the statement of cash flows to determine whether:

e Regular operations generate enough cash to sustain the business.
* Enough cash is generated to pay off existing debts as they mature.
e The firm is likely to need additional financing.

« Unexpected obligations can be met.

* The firm can take advantage of new business opportunities as they arise.
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om operating, investing, and fina ot

ing to one of those three categories gi desc

Iltems on the cash flow statement come from two sources: (1) income
statement items and (2) changes in balance sheet accounts. A firm’s cash
receipts and payments are classified on the cash flow statement as either
operating, investing, or financing activities.
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Cash flow from operating activities (CFO), sometimes referred to as

“cash flow from operations” or “operating cash flow,” consists of the

Inflows and outflows of cash resulting from transactions that affect a

firm’s net income.
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Cash flow from investing activities (CFl) consists of the inflows and
outflows of cash resulting from the acquisition or disposal of long-term assets
and certain investments.
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Cash flow from financing activities (CFF) consists of the inflows and
outflows of cash resulting from transactions affecting a firm’s capital
structure.
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Examples of each cash flow classification, in accordance with U.S. GAAP,
are presented in Figure 1 .




Figure 1: U.S. GAAP Cash Flow Classifications

Operating Activities
Inflows Outflows

Cash paid to employees and
Cash collected from customers suppliers

Interest and dividends received Cash paid for other expenses
Sale proceeds from trading securities Acquisition of trading securities
Interest paid

Taxes paid



Investing Activities
Inflows Outflows
Sale proceeds from fixed assets Acquisition of fixed assets

Acquisition of debt and equity investments
Sale proceeds from debt and equity investments

Principal received from loans made to others Loans made to others

Financing Activities

Inflows Outflows
Principal amounts of debt issued Principal paid on debt
Proceeds from issuing stock Payments to reacquire stock

Dividends paid to shareholders



Note that the acquisition of debt and equity investments (other than trading securities) and
loans made to others are reported as investing activities; however, the income from these
Investments (interest and dividends received) Is reported as an operating activity. Also, note
that principal amounts borrowed from others are reported as financing activities; however,
the interest paid Is reported as an operating activity. Finally, note that dividends paid to the
firm’s shareholders are financing activities.
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Note: Don’t confuse dividends received and dividends paid. Under U.S. GAAP, dividends
received are operating cash flows and dividends paid are financing cash flows.
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Noncash investing and financing activities are not reported in the cash
flow statement since they do not result in inflows or outflows of cash.
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For example, If a firm acquires real estate with financing provided by

the seller, the firm has made an investing and financing decision. This

transaction Is the equivalent of borrowing the purchase price. However,

since no cash Is involved In the transaction, it is not reported as an

Investing and financing activity in the cash flow statement.
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Another example of a noncash transaction Is an exchange of debt for equity:.
Such an exchange results in a reduction of debt and an increase in equity.
However, since no cash is involved In the transaction, it Is not reported as a
financing activity in the cash flow statement.
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Noncash transactions must be disclosed in either a footnote or supplemental
schedule to the cash flow statement. Analysts should be aware of the firm’s
noncash transactions, incorporate them into analysis of past and current
performance, and include their effects in estimating future cash flows.
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Recall from Figure 1 that under U.S. GAAP, dividends paid to the firm’s shareholders are
reported as financing activities while interest paid is reported in operating activities. Interest
received and dividends received from investments are also reported as operating activities.
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International Financial Reporting Standards (IFRS) allow more flexibility in the
classification of cash flows. Under IFRS, interest and dividends received may be classified
as either operating or investing activities. Dividends paid to the company’s shareholders and
Interest paid on the company’s debt may be classified as either operating or financing
activities.
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Another important difference relates to income taxes paid. Under U.S. GAAP, all taxes paid
are reported as operating activities, even taxes related to investing and financing
transactions. Under IFRS, income taxes are also reported as operating activities unless the
expense is associated with an investing or financing transaction.
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For example, consider a company that sells land that was held for investment for $1 million.
Income taxes on the sale total $160,000. Under U.S. GAAP, the firm reports an inflow of
cash from investing activities of $1 million and an outflow of cash from operating activities
of $160,000. Under IFRS, the firm can report a net inflow of $840,000 from investing
activities.
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There are two methods of presenting the cash flow statement: the direct
method and the indirect method. Both methods are permitted under U.S.
GAAP and IFRS. The use of the direct method, however, Is encouraged by
both standard setters. Regrettably, most firms use the indirect method. The
difference between the two methods relates to the presentation of cash flow
from operating activities. The presentation of cash flows from investing
activities and financing activities is exactly the same under both methods.
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e Direct Method

Under the direct method, each line item of the accrual-based income statement is
converted into cash receipts or cash payments. Recall that under the accrual method
of accounting, the timing of revenue and expense recognition may differ from the
timing of the related cash flows. Under cash-basis accounting, revenue and expense
recognition occur when cash is received or paid. Simply stated, the direct method
converts an accrual-basis income statement into a cash-basis income statement.
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Figure 2 contains an example of a presentation of operating cash flow for Seagraves
Supply Company using the direct method.




e Figure 2 Direct Method of Presenting Operating Cash Flow

Seagraves Supply Company
Operating Cash Flow — Direct Method For the year ended December 31, 20X7

Cash collections from customers S429,980

Cash paid to suppliers (265,866)

Cash paid for operating expenses (124,784)
Cash paid for interest (4,326)

Cash paid for taxes (14,956)
$20,048

Operating cash flow

Notice the similarities of the direct method cash flow presentation and an income statement.
The direct method begins with cash inflows from customers and then deducts cash outflows

for purchases, operating expenses, interest, and taxes.
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e Indirect Method

Under the indirect method, net income iIs converted to operating cash flow by
making adjustments for transactions that affect net income but are not cash
transactions. These adjustments include eliminating noncash expenses (e.g.,
depreciation and amortization), nonoperating items (e.g., gains and losses), and
changes in balance sheet accounts resulting from accrual accounting events.
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Figure 3 contains an example of a presentation of operating cash flow for Seagraves
Supply Company under the indirect method.




Figure 3: Indirect Method of Presenting Operating Cash Flow

Seagraves Supply Company
Operating Cash Flow — Indirect Method
For the year ended December 31, 20X7

Net income $18,788
Adjustments to reconcile net income to cash flow provided by operating activities:
Depreciation and amortization 7,996

Deferred income taxes 416

Increase in accounts receivable (1,220)

Increase in inventory (20,544)
Decrease in prepaid expenses 494

Increase in accounts payable 13,406
Increase in accrued liabilities 712

Operating cash flow 520,048



Notice that under the indirect method, the starting point is net income,
the “bottom line” of the income statement. Under the direct method, the
starting point is the top of the income statement, revenues, adjusted to
show cash received from customers.
" g Jaall gdla o ol Al old 3 pdladl e 45kl Cansey 4l Jaadl
é}‘)’\ J.sa.ud\ Ls‘t’ M\JJ\ dag) UJSJ co)u\_\.d\ MJJH\ L_\.u;_m\.a\ d;ﬂ\ u\_uu.o u_a\.@_d\
o5kl (e alivaall a8l (g2l Adaeall Clal ) e 5 JAall dald S
Total cash flow from operating activities is exactly the same under both
methods, only the presentation methods differ.
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» Arguments in Favour of Each Method

The primary advantage of the direct method is that it presents the firm’s operating cash receipts and
payments, while the indirect method only presents the net result of these receipts and payments.
Therefore, the direct method provides more information than the indirect method. This knowledge of
past receipts and payments is useful in estimating future operating cash flows.
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The main advantage of the indirect method is that it focuses on the difference between net income
and operating cash flow. This provides a useful link to the income statement when forecasting future
operating cash flow. Analysts forecast net income and then derive operating cash flow by adjusting
net income for the differences between accrual accounting and the cash basis of accounting.
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» Disclosure Requirements

Under U.S. GAAP, a direct method presentation must also disclose the adjustments

necessary to reconcile net income to cash flow from operating activities. This disclosure is

the same information that is presented in an indirect method cash flow statement. This

reconciliation is not required under IFRS.
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Under IFRS, payments for interest and taxes must be disclosed separately in the cash flow
statement under either method (direct or indirect). Under U.S. GAAP, payments for interest
and taxes can be reported in the cash flow statement or disclosed in the footnotes.
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Describe N statement Is linked to statement

p o+

and the balance shee

The cash flow statement reconciles the beginning and ending balances of cash over an accounting period. The

change in cash is a result of the firm’s operating, investing, and financing activities as follows:
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Operating cash flow

Investing cash flow

Financing cash flow

Change in cash balance

+ Beginning cash balance

Ending cash balance

With a few exceptions, operating activities relate to the firm’s current assets and current liabilities. Investing
activities typically relate to the firm’s noncurrent assets, and financing activities typically relate to the firm’s
noncurrent liabilities and equity.
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Transactions for which the timing of revenue or expense recognition differs from the receipt or
payment of cash are reflected in changes in balance sheet accounts. For example, when revenues
(sales) exceed cash collections, the firm has sold items on credit and accounts receivable (an asset)
Increase. The opposite occurs when customers repay more on their outstanding accounts than the firm
extends in new credit: cash collections exceed revenues and accounts receivable decrease. When
purchases from suppliers exceed cash payments, accounts payable (a liability) increase. When cash
payments exceed purchases, payables decrease.
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It is helpful to understand how transactions affect each balance sheet account. For example, accounts
receivable are increased by sales and decreased by cash collections. We can summarize this
relationship as follows:
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Beginning accounts receivable
Sales

— Cash collections

Ending accounts receivable

Knowing three of the four variables, we can solve for the fourth. For example, if
beginning accounts receivable are €10,000, ending accounts receivable are €15,000,
and sales are €68,000, then cash collections must equal €63,000.
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Understanding these interrelationships is not only useful in preparing the cash flow

statement, but is also helpful in uncovering accounting shenanigans.
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ation of direct and indir low
or ISINQ INC Statement 1la
Note: Throughout the discussion of the direct and indirect methods, remember the following points:
o CFO is calculated differently, but the result is the same under both methods.

» The calculation of CFI and CFF is identical under both methods.

* There is an inverse relationship between changes in assets and changes in cash flows. In other words, an

increase in an asset account is a use of cash, and a decrease in an asset account is a source of cash.

e There is a direct relationship between changes in liabilities and changes in cash flow. In other words, an

increase in a liability account is a source of cash, and a decrease in a liability is a use of cash.
» Sources of cash are positive numbers (cash inflows) and uses of cash are negative numbers (cash outflows).
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e Direct Method

The direct method of presenting a firm’s statement of cash flows shows only
cash payments and cash receipts over the period. The sum of these inflows
and outflows is the company’s CFO. The direct method gives the analyst
more Iinformation than the indirect method. The analyst can see the actual
amounts that went to each use of cash and that were received from each
source of cash. This information can help the analyst to better understand the
firm’s performance over time and to forecast future cash flows.
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The following are common components of cash flow that appear on a statement of cash flow presented under the direct method:
» Cash collected from customers, typically the main component of CFO.
» Cash used in the production of goods and services (cash inputs).
» Cash operating expenses.
» Cash paid for interest.
» Cash paid for taxes.
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Note: A common “trick” in direct method questions is to provide information on depreciation expense along with other operating cash
flow components. When using the direct method, ignore depreciation expense—it’s a noncash charge. We’ll see later that we do

consider depreciation expense in indirect method computations, but we do this solely because depreciation expense and other noncash
expenses have been subtracted in calculating net income (our starting point) and need to be added back to get cash flow.
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Investing cash flows (CFI) are calculated by examining the change In the
gross asset accounts that result from investing activities, such as property,
plant, and equipment, intangible assets, and investment securities. Related
accumulated depreciation or amortization accounts are ignored since they do
not represent cash expenses.

d}mf}j\ u\.a\.u; @ )Ja_d\ ddas Mla d)a R ‘L\JLA.\AM\}“ A.Lm‘ﬁ\ Ce MM\ Chlaanil) L_al.u; e.u
M}JA\ J.\.c u\JP}J\ ¢ Azall cc_ua‘d\ ¢ CSTiaall du J\.A.\.\MY\ A.ja.uu\ 8= ‘\A_\L\M A_J\.AAY\
Al @l elalyl ol a1 i) YERY) Slbia Jalad oy Laiy A lainY! Al &Y

Auan il Jia Y LY

Note: In this context, “gross” simply means an amount that is presented on

the balance sheet before deducting any accumulated depreciation or

amortization.
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When calculating cash paid for a new asset, it is necessary to determine whether old assets
were sold. If assets were sold during the period, you must use the following formula:

cash paid for new asset = ending gross assets + gross cost of old assets sold — beginning
gross assets
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Note: It may be easier to think in terms of the account reconciliation format discussed

earlier. That is, beginning gross assets + cash paid for new assets — gross cost of assets sold
= ending gross assets. Given three of the variables, simply solve for the fourth.

b Jsa¥l Jleal = delid) Lol Jouall 485 Maa) - sa0all Jsadl de gdaall aal) + 5 yall a8

Adliy Sl asiall Sl (S (Dl jasiall (e A3 48 jray 5 yidl) 4l



When calculating the cash flow from an asset that has been sold, it is
necessary to consider any gain or loss from the sale using the following
formula:
cash from asset sold = book value of the asset + gain (or — loss) on sale
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Financing cash flows (CFF) are determined by measuring the cash flows occurring
between the firm and its suppliers of capital. Cash flows between the firm and its
creditors result from new borrowings (positive CFF) and debt principal repayments
(negative CFF). Note that interest paid is technically a cash flow to creditors, but it
IS included in CFO under U.S. GAAP. Cash flows between the firm and its
shareholders occur when equity is issued, shares are repurchased, or dividends are
paid. CFF is the sum of these two measures.
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net cash flows from creditors = new borrowings — principal amounts repaid
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net cash flows from shareholders = new equity issued — share repurchases — cash dividends
paid
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Cash dividends paid can be calculated from dividends declared and any changes in
dividends payable.
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Finally, total cash flow is equal to the sum of CFO, CFI, and CFF. If calculated correctly,
the total cash flow will equal the change in cash from one balance sheet to the next.
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e Indirect Method

Cash flow from operations is presented differently under the indirect
method, but the amount of CFO is the same under either method. Cash
flow from financing and cash flow from investing are presented in the
same way on cash flow statements prepared under both the direct and
Indirect methods of presenting the statement of cash flows.
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Under the indirect method of presenting CFO, we begin with net income and adjust it for differences
between accounting items and actual cash receipts and cash disbursements. Depreciation, for
example, is deducted in calculating net income, but requires no cash outlay in the current period.
Therefore, we must add depreciation (and amortization) to net income for the period in calculating
CFO.
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Another adjustment to net income on an indirect statement of cash flows is to subtract gains on the
disposal of assets. Proceeds from the sale of fixed assets are an investing cash flow. Since gains are a
portion of such proceeds, we need to subtract them from net income in calculating CFO under the
Indirect method. Conversely, a loss would be added back to net income in calculating CFO under the
Indirect method.

O Cun Jsa¥) (e galadll e 45 il 2LV 2 ok s bl e el sl ol e Jaall dlal Al haed ellia
ha e lga sk ) Zlisg Lild cclailadl 038 (e 6 A Sl ) Lag s jlafind oot (385 4 AN J pal) a cilaile
Bf%)@ﬂ\ﬁujgﬁcﬂhwwﬂ\&j_BJ&L}A\ﬁ@#\%ﬁw\my\wgﬁm@ﬂ\gm&dsﬂ\

Bl e 48 plall o e Aliail) Aadi¥) (e aiil) (Baaill Gl 8 J30 il ) (5 A



Under the indirect method, we also need to adjust net income for change in balance sheet accounts.
If, for example, accounts receivable went up during the period, we know that sales during the period
were greater than the cash collected from customers. Since sales were used to calculate net income
under the accrual method, we need to reduce net income to reflect the fact that credit sales, rather
than cash collected were used in calculating net income.
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A change in accounts payable indicates a difference between purchases and the amount paid to
suppliers. An increase in accounts payable, for example, results when purchases are greater than cash
paid to suppliers. Since purchases were subtracted in calculating net income, we need to add any
Increase in accounts payable to net income so that CFO reflects the actual cash disbursements for
purchases (rather than total purchases).
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The steps in calculating CFO under the indirect method can be summarized as follows:
Step 1. Begin with net income.

Step 2: Subtract gains or add losses that resulted from financing or investing cash flows (such as gains from sale
of land).

Step 3: Add back all noncash charges to income (such as depreciation and amortization) and subtract all noncash
components of revenue.

Step 4. Add or subtract changes to balance sheet operating accounts as follows:

 Increases in the operating asset accounts (uses of cash) are subtracted, while decreases (sources of cash) are
added.

 Increases in the operating liability accounts (sources of cash) are added, while decreases (uses of cash) are
subtracted.
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« Example: Statement of cash flows using the indirect method

Use the following balance sheet and income statement to prepare a
statement of cash flows under the indirect method.

Income Statement for 2007
Sales $100,000
Expense
Cost of goods sold 40,000
Wages 5,000
Depreciation 7,000
Interest 500
Total expenses $52,500
Income from continuing operations $47,500
Gain from sale of land 10,000
Pretax income 57,500
Provision for taxes 20,000
Net income $37,500
Common dividends declared {18 500




Balance Sheets for 2007 and 2006

2007 2006 2007 2006
Assets Liabilities
Current assets Current liabilities
Cash $33,000 $9,000 Accounts payable $9,000 $5,000
Accounts receivable 10,000 9,000 Wages payable 4,500 8,000
Inventory 5,000 7,000 Interest payable 3,500 3,000
Noncurrent assets Taxes payable 5,000 4,000
Land $35,000 S40,000 Dividends payable 6,000 1,000
Gross plant and equipment 85,000 60,000 Total current liabilities 28,000 21,000
less: Accumulated (16,000) (9,000) Noncurrent liabilities
depreciation
Net plant and equipment $69,000 $51,000 Bonds $15,000 $10,000
Goodwill 10,000 10,000 Deferred tax liability 20,000 15,000
Total assets $162,000 $126,000 Total liabilities $63,000 S46,000
Stockholders’ equity
Common stock S40,000 $50,000
Retained earnings 59,000 30,000
Total equity $99,000 $80,000
Total liabilities and S162,000 | $126,000

stockholders’ equity




Any discrepancies between the changes in accounts reported on the balance sheet and those reported

In the statement of cash flows are typically due to business combinations and changes in exchange
rates.
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Answer:
Operating Cash Flow:
Step 1: Start with net income of $37,500.
Step 2: Subtract gain from sale of land of $10,000.
Step 3: Add back noncash charges of depreciation of $7,000.
Step 4. Subtract increases in receivables and inventories and add increases of payables and deferred
taxes.
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Net income

$37,500
Gain from sale of land (10,000)
Depreciation 7,000
Subtotal S34,500
Changes in operating accounts
Increase in receivables (51,000)
Decrease in inventories 2,000
Increase in accounts payable 4,000
Decrease in wages payable (3,500)
Increase in interest payable 500
Increase in taxes payable 1,000
Increase in deferred taxes 5,000
Cash flow from operations S42,500




Investing cash flow:

In this example, we have two components of investing cash flow: the sale of land and the change in gross plant
and equipment (P&E).

cash from sale of land = decrease in asset + gain on sale = $5,000 + $10,000 = $15,000 (source)

beginning land +land purchased — gross cost of land sold = ending land = $40,000 + $0 — $5,000 = $35,000
Note. If the land had been sold at a loss, we would have subtracted the loss amount from the decrease in land.

P&E purchased = ending gross P&E + gross cost of P&E sold — beginning gross P&E = $85,000 + $0 —
$60,000 = $25,000 (use)

gggig%ng gross P&E + P&E purchased — gross cost of P&E sold = ending P&E = $60,000 + $25,000 — $0 =
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Cash from sale of land

$15,000

Purchase of plant and equipment

(25,000)

Cash flow from investments

($10,000)




Financing cash flow:

cash from bond issue = ending bonds payable + bonds repaid — beginning bonds payable = $15,000 + $0 — $10,000 = $5,000 (source)
beginning bonds payable + bonds issued — bonds repaid = ending bonds payable = $10,000 + $5,000 — $0 = $15,000

cash to reacquire stock = beginning common stock + stock issued — ending common stock = $50,000 + $0 — $40,000 = $10,000 (use,
or a net share repurchase of $10,000)

beginning common stock + stock issued — stock reacquired = ending common stock = $50,000 + $0 — $10,000 = $40,000

cash dividends= - dividend declared + increase in dividends payable = —$8,500* + $5,000 = -$3,500 (use)

beginning dividends payable + dividends declared — dividends paid = ending dividends payable = $1,000 + $8,500 — $3,500 = $6,000

Note. If the dividend declared amount is not provided, you can calculate the amount as follows: dividends declared = beginning
retained earnings + net income — ending retained earnings. Here, $30,000 + $37,500 — $59,000 = $8,500.
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Sale of bonds S5,000

Repurchase of stock (10,000)

Cash dividends (3,500)

Cash flow from financing ($8,500)
Total cash flow:

Cash flow from operations S42,500

Cash flow from investments (10,000)

Cash flow from financing (8,500)

Total cash flow S24,000

The total cash flow of $24,000 is equal to the increase in the cash account. The difference between
beginning cash and ending cash should be used as a check figure to ensure that the total cash flow
calculation is correct.
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Tenth Lecture

Understanding Cash Flow Statements 2

e Convert cash flows from the indirect to direct method.

e Calculate and interpret free cash flow to the firm, free cash flow to

equity, and performance and coverage cash flow ratios.
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The only difference between the indirect and direct methods of presentation is in the cash flow from

operations (CFO) section. CFO under the direct method can be computed using a combination of the

Income statement and a statement of cash flows prepared under the indirect method.
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There are two major sections in CFO under the direct method: cash inflows (receipts) and cash
outflows (payments). We will illustrate the conversion process using some frequently used accounts.
The general principle is to adjust each income statement item for its corresponding balance sheet
accounts and to eliminate noncash and nonoperating transactions.
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Cash collections from customers.
1. Begin with net sales from the income statement.

2. Subtract (add) any increase (decrease) in the accounts receivable balance as reported in the indirect
method. If the company has sold more on credit than has been collected from customers, accounts
receivable will increase and cash collections will be less than net sales.

3. Add (subtract) an increase (decrease) in unearned revenue. Unearned revenue includes cash

advances from customers. Cash received from customers when the goods or services have yet to be

delivered is not included in net sales, so the advances must be added to net sales in order to calculate
cash collections.
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Cash payments to suppliers:
1. Begin with cost of goods sold (COGS) as reported in the income statement.

2. If depreciation and/or amortization have been included in COGS (they increase COGS), these noncash
expenses must be added back when computing the cash paid to suppliers.

3. Reduce %ncrease) COGS by any increase (decrease) in the accounts payable balance as reported in the
indirect method. If payables have inCreased, then more was spent on credit purchases during the period than was
paid on existing payables, so cash payments are reduced by the amount of the increase in payables.

4. Add (subtract) any increase (decrease) in the inventory balance as disclosed in the indirect method. Increases
in inventory are not'included in COGS for the period but still represent the purchase of inputs, so they increase
cash paid to suppliers.

5. Subtract an inventory write-off that occurred during the period. An inventory write-off, as a result of applying
the lower of cost or market rule, will reduce ending Inventory and increase COGS for the period. However, no
cash flow is associated with the write-off.
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Other items in a direct method cash flow statement follow the same principles. Cash
taxes paid, for example, can be derived by starting with income tax expense on the
Income statement. Adjustment must be made for changes in related balance sheet
accounts (deferred tax assets and liabilities, and income taxes payable).
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Cash operating expense is equal to selling, general, and administrative expense
(SG&A) from the income statement, increased (decreased) for any increase
(decrease) in prepaid expenses. Any increase in prepald expenses is a cash outflow
that is not included in SG&A for the current period.

o :\AJ\JY\ LJJJLAAJ\J dalall LJJJLAAJU t\.\j\ LJJJLAA Cy dS - LSJS_J\ :Sﬁﬂ. =4 LJJJLAA szm
33 ol Las Ao ) iy yeadll 8 (Ualiddl) Baly ) Y (QalidaVl) a3l S dJaall Gl

aalal) LJ.\JL».AAM} @.\j\ LJ.\JL‘AA&C‘)JA‘)JQ@J\A L;Js.m @L@M‘\LJ&M\ L_\\Aj)m.qj\
4\.\]\;1\ oJ.\sﬂ 4\_\‘)\&\)” u.\‘)\.».a.d\j



Example: Direct method for computing CFO

Prepare a cash flow statement using the direct method, based on the indirect statement of
cash flows, balance sheet, and income statement from the previous example.

Answer:

The calculations that follow include a reconciliation of each account, analysing the
transactions that increase and decrease the account for the period.
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Cash from operations:

Keep track of the balance sheet items used to calculate CFO by marking them off the
balance sheet. They will not be needed again when determining CFl and CFF.
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cash collections = sales — increase in accounts receivable = $100,000 — $1,000 = $99.000

beginning receivables + sales — cash collections = ending receivables = $9,000 + $100,000
—$99,000 = $10,000

cash paid to suppliers = —COGS + decrease in inventory + increase in accounts payable =
—-$40,000 + $2,000 + $4,000 = -$34,000

beginning inventory + purchases — COGS = ending inventory = $7,000 + $38,000 (not
provided) — $40,000 = $5,000

beginning accounts payable + purchases — cash paid to suppliers = ending accounts payable
= $5,000 + $38,000 (not provided) — $34,000 = $9,000

cash wages = —wages — decrease in wages payable = —-$5,000 — $3,500 = -$8,500

beginning wages payable + wages expense — wages paid = ending wages payable = $8,000
+ $5,000 — $8,500 = $4,500

cash interest = —interest expense + increase in interest payable = -$500 + $500 =0

beginning interest payable + interest expense — interest paid = ending interest payable =
$3,000 + $500 — $0 = $3,500



cash taxes = —tax expense + increase in taxes payable + increase in
deferred tax liability = -$20,000 + $1,000 + $5,000 = -$14,000

beginning taxes payable + beginning deferred tax liability + tax expense
— taxes paid = ending taxes payable + ending deferred tax liability =
$4,000 + $15,000 + $20,000 — $14,000 = $5,000 + $20,000

Cash collections $99,000
Cash to suppliers (34,000)
Cash wages (8,500)
Cash interest 0

Cash taxes (14,000)
Cash flow from operations $42,500




rpret free cash flow to m
d performance and arage fl

Free cash flow Is a measure of cash that iIs available for

discretionary purposes. This Is the cash flow that is available

once the firm has covered its capital expenditures. This iIs a

fundamental cash flow measure and Is often used for

valuation. There are several measures of free cash flow. Two

of the more common measures are free cash flow to the firm

and free cash flow to equity.
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Free Cash Flow to the Firm

Free cash flow to the firm (FCFF) is the cash available to all investors, both equity owners and debt holders.
FCFF can be calculated by starting with either net income or operating cash flow.
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FCFF is calculated from net income as:

FCFF = NI + NCC + [Int x (1 — tax rate)] — FClnv —= WClInv
where:

NI = net income

NCC = noncash charges (depreciation and amortization)

Int = interest expense

FCIinv = fixed capital investment (net capital expenditures)
WClInv = working capital investment

Note: Fixed capital investment Is cash spent on fixed assets minus cash received from selling fixed assets. It is
not the same as CFI, which includes cash flows from fixed investments, investments in securities, and repald

principal from loans maade.
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Note that interest expense, net of tax, Is added back to net income. This is

because FCFF is the cash flow available to stockholders and debt holders.

Since Interest is paid to (and therefore “available to”) the debt holders, it must

be included in FCFF.
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FCFF can also be calculated from operating cash flow as:

FCFF = CFO + [Int x (1 — tax rate)] — FClnv

where:

CFO = cash flow from operations

Int = interest expense

FClnv = fixed capital investment (net capital expenditures)



It Is not necessary to adjust for noncash charges and changes in working capital
when starting with CFO, since they are already reflected in the calculation of CFO.
For firms that follow IFRS, it Is not necessary to adjust for interest expense that is
Included as a part of financing activities. Additionally, firms that follow IFRS can
report dividends paid as operating activities. In this case, the dividends paid would
be added back to CFO. Again, the goal is to calculate the cash flow that is available
to the shareholders and debt holders. It is not necessary to adjust dividends for taxes
since dividends paid are not tax deductible.
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Free Cash Flow to Equity

Free cash flow to equity (FCFE) Is the cash flow that would be available for
distribution to common shareholders. FCFE can be calculated as follows:
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FCFE = CFO — FClInv + net borrowing

where:

CFO = cash flow from operations

FClnv = fixed capital investment (net capital expenditures)

net borrowing = debt issued — debt repaid



Note: If net borrowing Is negative (debt repaid exceeds debt issued), we

would subtract net borrowing in calculating FCFE.
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If firms that follow IFRS have subtracted dividends paid in calculating

CFO, dividends must be added back when calculating FCFE.
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Performance Ratios

The cash flow-to-revenue ratio measures the amount of operating cash flow
generated for each dollar of revenue.

I e Y 53 S e Algiall L) gl (Gl laSe sl YD (e (gail) (3831 A (pusl

= CFO
cash flow-to-revenue = ——

The cash return-on-assets ratio measures the return of operating cash flow
attributed to all providers of capital.
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The cash return-on-equity ratio measures the return of operating cash flow
attributed to shareholders.
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cash return-on-equity = 0;21 —"

The cash-to-income ratio measures the ability to generate cash from firm
operations.
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Cash flow per share is a variation of basic earnings per share measured by using CFO
Instead of net income.
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Note: If common dividends were classified as operating activities under IFRS, they
should be added back to CFO for purposes of calculating cash flow per share.
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Coverage Ratios

The debt coverage ratio measures financial risk and leverage.
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debt coverage — mff? -

The interest coverage ratio measures the firm’s ability to meet its interest
obligations.
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CFO + interest paid 4 taxes paid

interest paid
Note: If interest paid was classified as a financing activity under IFRS, no interest
adjustment is necessary.
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The reinvestment ratio measures the firm’s ability to acquire long-term assets with
operating cash flow.
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reinvestment = cash paid for long-term assets

The debt payment ratio measures the firm’s ability to satisfy long-term debt with
operating cash flow.
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The dividend payment ratio measures the firm’s ability to make dividend
payments from operating cash flow.
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The Investing and financing ratio measures the firm’s ability to purchase assets,
satisfy debts, and pay dividends.
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« Example 1. Using the following information, what is the firm’s cash flow from operations?

Net income $120

Decrease in accounts receivable 20

Depreciation 25

Increase in inventory 10

Increase in accounts payable 7

Decrease in wages payable 5

Increase in deferred tax liabilities 15

Profit from the sale of land 2
A. S158.
B. $170.
C.S174.

Explanation: Net income — profits from sale of land + depreciation + decrease in receivables — increase in
Inventories + increase in accounts payable — decrease in wages payable + increase in deferred tax liabilities
=120-2+25+20-10+7 -5+ 15 = $170. Note that the profit on the sale of land should be subtracted
from net income because this transaction is classified as investing, not operating.



Assuming U.S. GAAP, use the following data to answer Examples 2 through 4.

Net income 545

Depreciation 75

Taxes paid 25

Interest paid 5

Dividends paid 10

Cash received from sale of company building 40
Issuance of preferred stock 35
Repurchase of common stock 30
Purchase of machinery 20

Issuance of bonds 50

Debt retired through issuance of common stock 45
Paid off long-term bank borrowings 15
Profit on sale of building 20




e Example 2:

Cash flow from operations is:
A. $70.

B. $100.

C. $120.

Explanation: Net income — profit on sale of building + depreciation = 45
— 20 + 75 = $100. Note that taxes and interest are already deducted In
calculating net income, and that the profit on the sale of the building
should be subtracted from net income.



e Example 3:

Cash flow from investing activities Is:
A. -$30.

B. $20.

C. $50.

Explanation: Cash from sale of building — purchase of
machinery = 40 — 20 = $20.



e Example 4.

Cash flow from financing activities is:
A. $30.

B. $55.

C. $75.

Explanation: Sale of preferred stock + issuance of bonds — principal payments
on bank borrowings — repurchase of common stock — dividends paid = 35 +
50 — 15 — 30 — 10 = $30. Note that we did not include $45 of debt retired
through issuance of common stock since this was a noncash transaction.
Knowing how to handle noncash transactions is important.



e Example 5: Given the following:

Sales S1,500
Increase in inventory 100
Depreciation 150
Increase in accounts receivable 50
Decrease in accounts payable 70
After-tax profit margin 25%
Gain on sale of machinery S30

Cash flow from operations is:
A. $115.
B. $275.
C. $375.

Explanation: Net income = $1,500 x 0.25 = $375, and cash flow from operations =
net iIncome — gain on sale of machinery + depreciation — increase in accounts
reg(e)lva{)(l)% - |7n6:r_eq$sze7|5n Inventory — decrease in accounts payable = 375 - 30 + 150



e Example 6:

Which of the following items Is /east likely considered a cash flow from
financing activity under U.S. GAAP?

A. Receipt of cash from the sale of bonds.
B. Payment of cash for dividends.
C. Payment of interest on debt.

Explanation: The payment of interest on debt is an gperating cash flow
under U.S. GAAP.




e Example 7:

Which of the following would be /east /ikely to cause a change In
Investing cash flow?

A. The sale of a division of the company.
B. The purchase of new machinery.
C. An Increase In depreciation expense.

Explanation: Depreciation does not represent a cash flow. To the extent
that It affects the firm’s taxes, an increase In depreciation changes
operating cash flows, but not investing cash flows.



e Example 8:

Which of the following Is /east likely a change In cash flow from
operations under U.S. GAAP?

A. A decrease In notes payable.

B. An increase In interest expense.

C. An increase In accounts payable.

Explanation: A change in notes payable iIs a financing cash flow.



e Example 9:

Where are dividends paid to shareholders reported in the cash flow statement under
U.S. GAAP and IFRS?

U.S. GAAP IFRS

A. Operating of financing activities | Operating of financing activities

B. Financing activities Operating of financing activities

C. Operating activities Financing activities

Explanation: Under U.S. GAAP, dividends paid are reported as financing activities.
Under IFRS, dividends paid can be reported as either operating or financing
activities.



Example 10:

Sales of inventory would be classified as:
A. operating cash flow.

B. investing cash flow.

C. financing cash flow.

Explanation: Sales of Inventory would be classified as
operating cash flow.



e Example 11.

Issuing bonds would be classified as:

A. Investing cash flow.

B. financing cash flow.

C. no cash flow impact.

Explanation: Issuing bonds would be classified as financing cash flow.



e Example 12:

Sale of land would be classified as:
A. operating cash flow.

B. investing cash flow.

C. financing cash flow.

Explanation: Sale of land would be classified as
Investing cash flow.



e Example 13:

Under U.S. GAAP, taxes paid would be classified as:
A. operating cash flow.

B. financing cash flow.

C. no cash flow impact.

Explanation: Taxes paid are an operating cash flow
under U.S. GAAP.




e Example 14

An increase In notes payable would be classified as:
A. Investing cash flow.

B. financing cash flow.

C. no cash flow impact.

Explanation: Increase in notes payable would be classified as
financing cash flow.



e Example 15:

Under U.S. GAAP, interest paid would be classified as:
A. operating cash flow.

B. financing cash flow.

C. no cash flow impact.

Explanation: Interest paid Is classified as operating cash flow
under U.S. GAAP.



e Example 16:

Continental Corporation reported sales revenue of $150,000 for the current
year. If accounts receivable decreased $10,000 during the year and accounts
payable increased $4,000 during the year, cash collections were:

A. $154,000.
B. $160,000.
C. $164,000.

Explanation: $150,000 sales + $10,000 decrease in accounts receivable =
$160,000 cash collections. The change in accounts payable does not affect
cash collections. Accounts payable result from a firm’s purchases from its
suppliers.



e Example 17:

Under IFRS, interest expense would be classified as:
A. either operating cash flow or financing cash flow.
B. operating cash flow only.

C. financing cash flow only.

Explanation: Under IFRS, interest expense can be classified as
either an operating cash flow or financing cash flow.



e Example 18:

Depreciation expense would be classified as:
A. operating cash flow.

B. investing cash flow.

C. no cash flow impact.

Explanation: Depreciation expense would be classified as no
cash flow impact.



e Example 19:

Under U.S. GAAP, dividends received from investments would
be classified as:

A. operating cash flow.
B. investing cash flow.
C. financing cash flow.

Explanation: Dividends received from investments would be
classified as operating cash flow under U.S. GAAP.
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